ME#MI5I28 1 EHER(6A1B~6A130EESD) JAL/JTA/RAC
EEEAD 2022/6/1
XF 23k U0} BER o/1-13 | B EE
TRED | K| Bl51%
HRCHE) =% REECHE)FE | B4R (&) JAL _[JTA/RAC ,500 68% |7k A:21,300, £:26,300, +:26,600. H:23,600
BEOH SP4E(BBFE) |JTA/RAC|  JAL ,200 65% | H:26.000
RR(CRHE)=FE }:,a FHE)FE | v GEBR) JAL [ JTA/RAC 1600 70% |#::26,600, £:27,300, H:23,600
KB (B7E) JAL JTA 35,100 57% | F:35,800, £:36,600. £:36,800. H:34,900
RIEH SPEE(FBF) |UTA/RAC|  JAL 20,800 71% [ H:26,500
KR () =% 5 KB (D | B CHHE) JAL JAL 25,700 65% |%:25.800, + :25,000
ARG TFR | JAL JAL 27,200 62% |%:28,600, :21,800
ESEEES BRIR CHH) JAL JAL 24,400 66% :24,800.
ARG TFR | JAL JAL 28,200 61% | %:26,100.
KR (B7E) =% 5l KB (BE78) & | IR CHH) JAL JAL 22,400 69% ,
AR GERTFR | JAL JAL 25,500 64% | %:27,500 ,100. ,
ESEEES BRIR CHH) JAL JAL 23,600 68% :24,000, £:24,900, +:23,800. H:26.400
FLIR BT i) [ JAL JAL 25,100 65% | :25400, £:20,300, H:20,200
KBR (55D =Rl ABR(FFDF | HECHE JAL JAL 26,800 62% | HsKk+:26,400. AK:27,200. £:27,300, H:26,300
FENIES JAL JAL 24,400 66% |7k A:24,000. %
KB (BE7E) =Rl PNAGEHES JAL JAL 25,400 64% A7l
EIIES JAL JAL 23,200 67% |J
KBR (55 =8IE% KBR (5} 5 JAL JAL 25,000 64% |3
FEES JAL JAL 23,800 66% |3
KB (BE7E) =SIE% PNAGEHES JAL JAL 21,600 69% |3
FEES JAL JAL 23,000 67% |
KB (5D =%IE KBR (75} 5 JAL JAL 25,200 64% |7 N l:24 500, H:25.900
FILFE JAL JAL 23,200 67% | & : :25,200
KB (BE78) =I5 PNAGEHES JAL JAL 21,900 69% |7 . £:23,000, H:25.000
HIL%E JAL JAL 22,400 68% | 3,600, H:25,400
KR (5} =R KBR (5D 5 JAL JAL 22,900 63% |2 3,000, H:23.700
BKIAE 5 JAL JAL 24,400 60% : . #:26,000, £:23,400, H:26,500
KB (BE76) =R KB (BH76) 5 JAL JAL 21,800 65% . £:20,400, H:22,800
BRI AR ¢ JAL JAL 23,600 62% . £:23.200. H:26,700
KB () ==iR ABR (5D 5 JAL JAL 23,400 61% . H:21,900
=IR% JAL JAL 23,000 61%
KB (Bi#E) ==iR ABR (BH7E) 5 JAL JAL 20,800 65%
=IR% JAL JAL 22,200 63% . £:22,000, H:23.200
KBR (5} =Rk KBR (75D 5 JAL JAL 14,400 60% :
[ECES JAL JAL 15,100 58% | +:15.900
KR () =BF& KBR (5} 5 JAL JAL 20,400 55% | 7KZK:20.200, £ H:20.600, £:21.200
ETERX JAL JAL 21,000 53% | H:20,600, £ H:21,600, £:20,500
KB (5D == KBR (75} 5 JAL [JUTA/RAG| 26,400 55% | 7K7K:26,200, £:27,200, +:28,500. H:24,700
EEEa JTA/RAC|  JAL 25,600 57% |%:24,500, 1:24,300, H:26,100
KB (BH78) ==& pNAGEHES JTA [JTA/RAC| 31,000 48% | F:31,200 0,500, £:31,700, H:29.900
BO R JTA/RAC|  JTA 31,000 48% | F:31,200 0,100, £:30,300, H:30,700
KB (5D =FR1E ABR (75D 5 JAL [JUTA/RAG| 26,500 59% |%:27.300. 1:28,600
Ria%E JTA/RAC|  JAL 25,700 61% | H:26,200
KB (Bi#8) =R1E ABR (BH78) F& JTA [JUTA/RAG| 31,700 52% | B A:31.900, £:31,200, £:32,400. H:31,300
RiEZ JTA/RAC|  JTA 31,300 52%
2 E (PER) =%iER| B (PED) % JAL JAL 28,100 58% | £:31,500, £:27.100, H:24.000
22 it Bl 5 JAL JAL 22,600 66% | H:23600, A:23000, £:25:800, £:19.600, H:21,100
2EE(FE) =25 ZEE(REFK | H JTA [JUTA/RAG| 31,800 50%
EHE JTA/RAC| JTA 31,800 50% |7K:31,200, A:31,300
Z2HE(hE) =FhiE %HE(EF*“B)% | JTA [JUTA/RAG| 31,400 55% | +:31,800
RIEH ;‘mﬁ%(%ﬂﬁ) JTA/RAC| JTA 31,900 55%
IR BT =/ FLIE T i) % JAL JAL 22,900 64% | A:23200, % . £:22,800, H:27.300
INERFE H) JAL JAL 23,300 63% | 7:24,100, . £:27,200, H:23,000
IR IR =FmiLaE |[REGTFR)E @) JAL JAL 28,500 60% |4:28900, . B:28,200
e BE R z:)) JAL JAL 28,000 61% | A:28500, . £:28,300, H:29.600
IR TR =’ *L’I‘E(%ﬁﬂr—ﬁ)% @) JAL JAL 28,200 61% |%:29,900, . B:30,300
L% H) JAL JAL 25,900 64% | A:26,700. ,000, £:29,900. H:25,400
IR FHTFR)=LS *L’I‘E(%ﬁﬂr—ﬁ)% @) JAL JAL 28,200 62% |% H:30,300, £:26,100
LhE% B) JAL JAL 26,700 64% | A:27,500, £:30,500, £:30,200, H:25,400
FLIE (BT &%) =LA FE TR | BR(HA) JAL JAL 25,100 68% | £:26,800, £:24,800, H:31,300
ISE3E:S Eﬁﬁz(zas ) JAL JAL 25,600 67% | A:26,400, £:29,600, +:30,000, H:26,100
IR TR =HE FLIE T %) % H) JAL JAL 31,000 56%
HER M) JAL JAL 31,000 56%
IR FHTFR) =ES FLIE T k) % @) JAL JAL 26,700 63% . B:28,900
mE % z:)) JAL JAL 26,800 63% ] H:24.400
IR FHTFR) =ai *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 28,800 60% K:29,400, ) H:33,000
EF B) JAL JAL 27,600 62% | A:28,400. , B:29,300
IR FHTFR) =2 *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 29,000 61% K:29,200, , H:32,900
H) JAL JAL 28,100 62% | A:28,900. , H:27,800
IR TR =l *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 29,900 60% : ]
% B) JAL JAL 29,200 61% H:29,300
ALIR FF ) =L *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 30,700 62% K:30,900, ,000. H:34,700
EZENES H) JAL JAL 27,600 66% | A:28,400. . H:30,600
IR FHFR) =KD FLIE T ik) % H) JAL JAL 28,900 63% k:28,100, . £:29,200, H:34,700
2 H) JAL JAL 28,800 63% :29,200, . £:34.400, H:30.800
IR FH TR =R& FLIE T ik) % @) JAL JAL 29,000 65% | H:29.100, . % £:32,000, H:35,700
R % RECHE) JAL JAL 28,800 65% |7K:29,200, . £:34,000, H:30.800
IR BT %) =8 *Lil!i(%ﬁﬂr—ﬁ)% Eﬁm(iﬂz ) JAL JAL 28,900 64% | A:28,700, . H:35,400
H) JAL JAL 28,000 65% | A:28,800. . B:31,600
IR FHTFR) =28 *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 27,900 65% | %:30.600.,
EI5R B) JAL JAL 28,000 65% [7k.28.400. 7 H:28.800. % 32,400 £:33.200
LREFFR =ERS *Lm;(ﬁqiﬁ)% B) JAL JAL 26,700 68% | H:29,600, % . £:31,800. H:34,900
EREH H) JAL JAL 26,000 69% | 5:28,000, A . %:32,800, £:34,000, H:31,800
WIREF TR =R B | LIREFFR)E H) JAL JAL 26,900 68% |%:34,000, + . H:33,800
) JAL JAL 18,200 79% |+ H:19,600
JAL JTA 31,600 64% | F:31,700. 7K:29,400. A:29,600. % £:32,600. H:40,500
JAL JTA 33,600 63% | 5:33900, £:34,600, £:35,000, H:36.400
R (B F JAL JAL 26,600 69% | A:27,400, £:29,300, £:28,800, H:33,700
JAL JAL 18,200 79% |+ H:19,400
JTA JAL 29,700 66% :21,900, £:23,800. H:28,400
JTA JAL 30,000 65% H:30,500. &:30,100. £:18,800. £:19,200
EeE] JTA JAL 33,600 63% | H:33,900. A:34,200. £:35,200. +:36,400. H:35,000
IR FHFR) =F1E *Ld‘i(%ﬂ'—ﬁ)% R (CHH) JAL JAL 34,300 68% 38,100
EH RCRMA) JAL JAL 34,300 68% . H:37,900
12 = %) ?al‘l% R CHHE) JAL JAL 31,900 64%
FLIEF TR | JAL JAL 29,900 64% |#::30,500, £:26,900. H:26,800
i Bl R BRIE CHH) JAL JAL 30,600 66% 31,000, A:30,700, %:34,400, £:30,900, H:33,000
5% | JAL JAL 25,400 69% |#:25700, £:23,600, H:21,900
2 =1eI 128 H) JAL JAL 33,000 62% | A1:33,800 4,800, H:35.300
FENIES SE) JAL JAL 30,200 65% | 7k:29,800. A £:29,900. £:33,600. H:31,600
RS [ BLE=D) JAL JAL 31,200 64% | £:32,200., £:32,000, H:33,500
ETEES isz(ﬂz ) JAL JAL 30,000 65% | A:30,100, £:34,000, £:31,000, H:33,400




ME#MI5I28 1 EHER(6A1B~6A130EESD) JAL/JTA/RAC
12 =I5 [ RE(HH) JAL JAL 31,800 63% |7kA:31.400, £:32,600, +:31,900. H:34,900
HILFE EGACRLE:D) JAL JAL 29,400 66% | A:29,500. £:33,600. +:29,900. H:32,000
RS [EEES BR CHH) JAL JAL 28,100 64% |%:31,900. +:30,600, H:32,700
KB (R F) JAL JAL 25,800 63% | % 1:28,800, H:25,000
S BE CHH) JAL JAL 30,100 61% 5 £:30,500. £:31,800. H:32,400
AR () JAL JAL 22,900 67% | A:25,000, % H:26.400, £:24,700
B =5% [HEES BE CHH) JAL JAL 23,000 70% |#+ H:23.800
KB (R F) JAL JAL 19,200 71% | A:19,600, £:21,400, £:22,000, H:20,200
EHR RE(CHH) JAL JAL 23,000 70% |#+ H:23,800
KB (R F) JAL JAL 19,200 71% | A:21,300, £:23,100, £:22,000, H:24,100
&R ==iR [ R (HH) JAL JAL 21,000 72% |#+ H:21.800
ZiR% HUR CHH) JAL JAL 21,000 72% |t H:21,800
KB () JAL JAL 21,500 69% | A:23600, £:27,800, £:24.900, H:27.700
2@ =#E 2 [ EACR:D) JAL JAL 30,000 57% |%:30,300. £:23,500, H:25,100
PYEES RE(CHH) JAL JAL 29,200 58% | A:29,300. #:32,600, +:25.200, H:24,900
ABx (R F) JAL JAL 20,100 68% | A:21,300, % H:23,400, £:21,900
2 = [HEES BE CHH) JAL JAL 22,700 63% | £:25.300, £:22,100, H:26.300
pNACGEE)) JAL JAL 23,700 62% 5;:26,300 . H:24,500
[i}Z:3 RE(CHH) JAL JAL 22,800 63% | A +:25,700. H:22.000
KB (R F) JAL JAL 25,300 59% | A . £:27,100. B:28,800
[EEEURA [ R (HH) JAL JAL 24,400 64% :25, F:24,200, H:25,800
N FUR CHH) JAL JAL 26,400 61% |&+:26, 700 524,300
fBE==0 [ s (FRER) JTA [JUTA/RAG[ 25,400 51% |7kA:25,200, £ H:25,700
HaE SPHB(FBE) [ JTA/RAC|  JTA 25,100 51% |/K7K:24,900., %:25,300, F H:25,400
B =hig [ s (FRER) JTA [JUTA/RAG[ 25,500 56% |+ H:25.800
HIEH i (L) [JTA/RAC| JTA 25,100 57% |+ H:25,400
TR =Te% ESTRES MREFFRE) | JAL JAL 23,900 55% | +:20,800. H:24,400
EEHR TR | JAL JAL 23,900 55% :24,600, F:23,600. H:20,800
ZiERl=E ESTRES T | JAL JAL 24,500 57% £:25.100, A:24,900, £:21.400, H:21.500
= B | JAL JAL 24,100 58% | A<:25,100, £:22,000, H:19.600
SRS ) ESRIE S BT | JAL JAL 24,900 57% |+:22,200. H:21,300
FinF T [ JAL JAL 25,700 56% | 1:21,800, H:23,100
R = MR ESTRES FH) JAL JAL 22,600 69% | H % +:23,000, H:24,000
N E:)) JAL JAL 23,600 67% |:25000, +:24,400, H:24,600
Al =0 ESRES @) JAL JAL 27,700 66% | H4::28,100, £:25,600. H:27,000
FELLISE M) JAL JAL 27,900 66% |& 7,400, H:26,700
TR =58 ESRIES H) JAL JAL 27,300 67% 8,100, £:25,600, H:27,000
LE% M) JAL JAL 28,200 66% 7,400, H:26,900
IR B T&&) | JAL JAL 26,700 65% 4,700, H:23,600
Zimpl=HE it Bl 5 E:)) JAL JAL 34,200 57% 4,500, H:35.900
HiE 5 @) JAL JAL 34,600 57% £:35,900
Zim Al =l itk Bl F BE=D) JAL JAL 29,400 65% -30,900, F:27,400. H:31,900
ALFE FE) JAL JAL 28,700 66% |<:29,500, +:30.000, H:29.400
ZiGR=H1E ZimBlI R FIE) JAL JAL 36,300 68% | H<:36,700, £:38,700, H:39,300
AiES @) JAL JAL 35,900 69% |4:37.800, +:38,100. H:39.500
TBII=/ FENIES H) JAL JAL 22,300 68% |7k A:22,000, £:23,500, £:23,000, H:23,800
INEAFE @) JAL JAL 25,900 63% | A /K:24.200, K:25,000, £:25.200, £:25.400, H:26.600
BlIl=rftaE FENIES H) JAL JAL 21,900 72% | 7:22,700, £:24,000, £:23,000, H:25,900
EE=hd H) JAL JAL 32,600 58% | H:30,200, 7k A&:29,800. %:30,700. H:33,000
JBII=FRE JENIES M) JAL JAL 27,300 66% kA . 1:25,600, H:26,400
TeE] LLI 58 @) JAL JAL 27,800 65% | HK:26.200. A:27.000. £:27.200. £:28.600. H:28.400
BI=HE JBII1%E H) JAL JAL 33,400 57% | £::34,200, £:34,500, H:35,500
HIE 5 @) JAL JAL 35,900 54% | A k:35.300
JBII=#x0 JENIES H) JAL JAL 29,000 64% |7k A:28,600, £:30,100, £:27,400, H:30,500
[ANTIES @) JAL JAL 29,600 64% | A 7K:29.400, K:30.200. £:30.400, £:31,000, H:31.400
BII=RiE ENIE: H) JAL JAL 35,700 68% : :37,900
AiEFH @) JAL JAL 39,500 65% £:37,600, + H:41,500
FIEEN SIERFE z:)) JAL JAL 22,400 68% H:24,400
INAFE @) JAL JAL 22,900 67% :24,800
IER =1L SIERF BE=D) JAL JAL 27,100 66% :27,400
TeE] LLI 58 FE) JAL JAL 27,200 65%
SR =155 SIERF BLE=D) JAL JAL 26,700 66%
NEES H) JAL JAL 27,500 65%
Sl =HE SIERF B) JAL JAL 33,800 56% :35,900
HE @) JAL JAL 33,900 56% -34,800
FIER =#L SIERF BE=D) JAL JAL 28,800 64% :32,300
ALFE FE) JAL JAL 28,000 65% :29,600
figk="18 SR % BE=D) JAL JAL 36,100 68% :38,700
AiEFH @) JAL JAL 35,700 68% -39,700
HIL=/MR HILFE H) JAL JAL 21,800 68% |&:22) :23,
INAFE @) JAL JAL 23,100 67% |4 7':22 700, £:23500, H:26,200
=MW HILFE FIE) JAL JAL 26,500 66% |%:27,300, +:25,600, H:26,000
TeE] LLI 38 FE) JAL JAL 27,400 65% | 7KA:27,000, %:25,900, £:26,700, H:28,000
Fh=HE HILFE FIE) JAL JAL 33,200 57% | %:34,000, £:34,500, H:35.000
HE @) JAL JAL 34,100 56% |7k A:33,700, £:35,500, H:35,900
L= HILFE B) JAL JAL 28,200 65% | ::30,100, £:27,400. H:30,900
ALFE @) JAL JAL 28,200 65% |7k A:27,800, £:29,100, H:31,000
wLh=hiE HILFE FIE) JAL JAL 35,500 68% | :36,300, 1:38,700, H:37.500
RiEFH FE) JAL JAL 35,900 68% | 1£:37,100, H:41,100
EFEENN EEE S BE=D) JAL JAL 22,600 63% 5:23,000, £:22,800, H:24,300
INAFE @) JAL JAL 22,200 64% |4:24,300, +:22,300, H:24,000
AR =L ek M) JAL JAL 26,500 62% | H:26,900, £:26,700, +:25.200, H:27,200
TeE] LLI 58 @) JAL JAL 25,600 64% |4:26,000, +:25300, H:25:800
HE=L5 ENEE R H) JAL JAL 27,300 62% | H:27,700. £:27,900, 1:25.200
LB SE) JAL JAL 25,900 64% |£:27,100. £:25,300. H:26,300
HE=HE S BE=D) JAL JAL 34,200 50% :34,600, %:34,400, 1:34,100, H:34,800
xr&fiﬂﬁ ) JAL JAL 23,100 65% | H:24,400
HER RE (HH) JAL JAL 33,000 52% |%:34,200, +:34,300, H:34,000
ABR (#F1) JAL JAL 26,000 61% :27,200, £:28,100. H:25,200
R =L EEER RE (HH) JAL JAL 28,200 61% :28,600, %:29,200, +:27,000, H:31,100
ABR (#F1) JAL JAL 23,800 63% | H:24,200
PAIIES RE (HH) JAL JAL 26,400 64% |%:27,600, +:27,900, H:28,800
ABR (#F1) JAL JAL 26,700 58% |#::27,900, £:28,300, H:25900
BEEE=dL BN FR CHHE) JAL JAL 28,100 64%
EZRNES HUR CHH) JAL JAL 27,500 65% |&+ H:28100
HE=X% EES FR CHH) JAL JAL 21,900 71% |#&+ H:22,500
pNACGEE)) JAL JAL 23,600 64% | H:27,600
Ko 5 RE (HH) JAL JAL 21,900 71% |#&+ H:22,500
ABR (#F1) JAL JAL 26,500 60% |#::30,700, £:31,400, H:25,700
HEE=RIEK EEER RE (HH) JAL JAL 22,400 72% &+ H:23,000
pNACGEE)) JAL JAL 26,700 64% | H:28,500
R RE (HH) JAL JAL 22,400 72% |#+ H:23,000
RBR (F#51) JAL JAL 29,600 60% |#::30,800, £:31,200, H:28,800




[E#B5I28 NEER(6H1B~6A130EES)

JAL/JTA/RAC

HEE=RX S BRI CHH) JAL JAL 22,400 71% |#+ H:23,000
KBR (FF4) JAL JAL 24,000 66% |%::26,900. H:27,000
X3 RE(CHH) JAL JAL 22,400 71% £+ H:23,000
1) JAL JAL 26,900 62% |#:28,100, £:31,100. H:26,100
HE==K S = (CHH) JAL JAL 22,400 71% £+ H:23,000
) JAL JAL 27,500 61% |#:27,800, H:28,500
ECES = CRH) JAL JAL 22,400 71% £+ H:23,000
) JAL JAL 30,000 58% |#::31,200, £:31,600, H:29,200
HE=ER S = CRH) JAL JAL 22,400 72% |[&XH
) JAL JAL 26,200 65% |4
BRER = CRH) JAL JAL 22,400 72% |3
) JAL JAL 28,300 62% |& :29,700, H:27,700
HEE=Fh1E ENEE R H) JAL JAL 35,500 66% |7 . %:35,700, £:38,300, H:37.500
R M) JAL JAL 35,900 65% |#::37,100, +:36,400, H:38,900
BR=/ML EHRR H) JAL JAL 14,800 75% |&+ H:15,500
IMAFE z:)) JAL JAL 15,300 74% |&+ H:16,500
EHR=EitaE CEisi H) JAL JAL 25,900 62% |£ H:26,500, 1:27.300
HfEER B) JAL JAL 26,900 60% | H:28,900
HEH=ML B H) JAL JAL 24,800 64% |%:25.200. + H:22,800
FE LIS B) JAL JAL 23,900 65% |#::25,700, £:22,900, H:23,600
EHR=L58 EHRR H) JAL JAL 25,700 63% | A:26,100, :24,100
LE% z:)) JAL JAL 24,900 64% |%:26,500, £:22,700, H:24,100
ERx=LOFH ERR H) JAL JAL 21,700 71%  |%:22,400. +:22,200, H:24.100
IO &% B) JAL JAL 22,500 70% |%::24,000, H:24,900
EHR=HE EHR H) JAL JAL 29,600 56%
i=9) JAL JAL 19,400 70% |%::19,800, £:20,400, H:22,100
HER M) JAL JAL 29,600 56%
1) JAL JAL 19,400 70% | A%:19,800. £ H:21,300
EH=S EHR H) JAL JAL 20,300 70% |[#+ H:21,300
BEHE M) JAL JAL 20,300 70% |4 21,300
EHR=mn EHRR H) JAL JAL 20,200 70% |4 20,500
BIFE M) JAL JAL 20,200 70% |4 20,500
EHR=mH EHRR FH) JAL JAL 20,300 71% |4 00, + H:24.100
IS ) JAL JAL 20,300 71% |&+ H:24,000
HH=wl EHR FH) JAL JAL 20,000 72% £+ H:20,500
1) JAL JAL 20,100 67% |%:20,500, +:21,100, H:21,900
[PNTES =) JAL JAL 20,000 72% |% £ H:20,500
1) JAL JAL 20,100 67% |4 0,500, £:21,500, H:21,100
BH=1AMm B H) JAL JAL 21,800 71% |4 22,600
EIZNIES E:)) JAL JAL 21,800 ES 22,600
BEHR=K% EHR = CHH) JAL JAL 21,700 71% £+ H:22,500
KB () JAL JAL 19,900 69% | £::20,300, £:20,900, H:25,300
Ko 5 HE(CHH) JAL JAL 21,700 71% |$+ H:22,500
pNACGEE)) JAL JAL 19,900 69% | A:20,300, £:23,300, £:24,600. H:22,600
EHR=RE EHR IR CHHE) JAL JAL 23,200 71% £+ H:24,000
pNACGEE)) JAL JAL 23,000 68% | £::23,400, £:24,000, H:26,200
R HE(CHH) JAL JAL 23,200 71% £+ H:24,000
KB (R F) JAL JAL 23,000 68% | A%:23,400, £:24,400, H:24,100
BEHR=EX EHR BIR CHHE) JAL JAL 21,800 71% |£+ H:22,600
KB (R F) JAL JAL 22,300 68% | £::23,600, £:23,700, H:24,700
X3 RE(CHH) JAL JAL 21,800 71% |£+ H:22,600
KR (FF4) JAL JAL 20,300 70% | A%£:20,700, £:24,300, H:22,200
EHR== EHR IR CHHE) JAL JAL 21,800 71% |£+ H:22,600
pNACGEE)) JAL JAL 23,900 65% |%:24,500, +:25,500, H:26,200
EEES HE(CHH) JAL JAL 21,800 71% |£+ H:22,600
pNACGEE)) JAL JAL 24,200 65% |%:24,600, £:25,000, H:26,600
EHR=ERE EHR BR CHHE) JAL JAL 23,200 71% £ H:24,000
PG JAL JAL 22,500 69% |%:23,000, +:23,600, H:24,000
BERER BIR CHH) JAL JAL 23,200 71% |$ 1 H:24,000
KBR (FF#F1) JAL JAL 21,700 70% | AR%:22,100, £:22,900, H:23.800
BEHR=HRE BEHRR RR(FH) JAL JAL 33,300 67% |$:33900, £ H:35900
RIEH R (CHH) JAL JAL 33,300 67% | +:35300, H:36.700
ZiR=/ =iR% ESACED) JAL JAL 14,800 75% :15,500
IMRFE R (HH) JAL JAL 15,300 74% 116,500
ZiR=RL ZiR% ESACED) JAL JAL 26,300 61% 6,900, & H:23,800
[EES R (HH) JAL JAL 23,200 66% > 0:23,800, £:24,000
ZiR=L% =iR% FIR CHH) JAL JAL 25,900 62% |3
LE5% FUR CHHE) JAL JAL 24,600 64%
ZiR=WOFH ZiR% ESACED) JAL JAL 23,200 68%
ISE3E: R (HH) JAL JAL 23,600 68%
SR=H=E =R% ESACED) JAL JAL 29,600 55%
HE RE (CHH) JAL JAL 29,600 55%
PN =) JAL JAL 25,900 60%
ZR=1E8 FUR CHHE) JAL JAL 19,300 1%
ESACED) JAL JAL 19,300 71%
ZiR=mn R (HH) JAL JAL 19,200 1%
FIR CHH) JAL JAL 19,200 71% :19,500
ZiR==H FUR CHHE) JAL JAL 19,300 72% 00, + H:23,100
ESACED) JAL JAL 19,300 72% H:23,000
ZiR=#L FUR CHHE) JAL JAL 19,000 73%
BR CHHE) JAL JAL 19,000 73% |4
KR (FF4) JAL JAL 26,600 58% |7
ZiR=4tAM =R% FR CHH) JAL JAL 19,800 74% |4
EIZRIES R (HH) JAL JAL 19,800 74% |4
ZR=X% =R%E FUR CHH) JAL JAL 19,700 73% |4
Ko 5 RE (HH) JAL JAL 19,700 73% |4 ,
ABR (#F1) JAL JAL 26,400 60% |7k A:22,200. £:27,300. £:28,000
ZiR=R& ZIR%E R (HH) JAL JAL 21,200 73% |&+ H:22,000
RIGHE B CRH) JAL JAL 21,200 73% %+ H:22,000
KR () JAL JAL 28,700 60% |7k A:24,500, & +:26,600
ZiR=EX ZiR% B CHE) JAL JAL 19,800 74% _|% 1t H:20,600
RRAR RE (HH) JAL JAL 19,800 74% |#+ H:20,600
pNACGEE)) JAL JAL 29,200 58% |/KA:25,000, % £:27,100
ZR=%& ZiR% RE (HH) JAL JAL 19,800 74% |+ H:22,600
AR (#F1) JAL JAL 25,700 63% |#::28900, £:27,300, H:29,200
ECES RE(HH) JAL JAL 19,800 74% |+ H:22,600
ABR (#F1) JAL JAL 30,700 56% |7k A:26,500, % £:29,000. H:31,200
ZR=EBRS ZiR% RE (HH) JAL JAL 21,200 73% |&+ H:22,000
ABR (#F1) JAL JAL 25,100 66% |#::27,900, £:26,200, H:27,800
BERER RE(HH) JAL JAL 21,200 73% |&+ H:22,000
AR (#F1) JAL JAL 28,200 62% |7k A:24,000. %:26,100. £:26,300. H:28,400
ZiR=HRiE ZIR%E R (HH) JAL JAL 34,900 66% |+ H:36.900
RIEX HIR CHH) JAL JAL 34,900 66% |+ H:36,900




lEHER5|28  EEX(6A1B~6A13HEES) JAL/JTA/RAC

FUH=/MR PR F RE(HH) JAL JAL 17,200 68% |&+ H:18,300
IS R CHH) JAL JAL 17,100 68% |&+ H:17,500
MHE=FAE Nk PH) JAL JAL 26,300 57% | 1:23,400, H:22,600
HfEER FA) JAL JAL 26,300 57% | £:22,700, B:23,100
FE =R RS FIE) JAL JAL 26,300 58% |+ H:18.900
ENES TIH) JAL JAL 24,500 61% |#:25800, £:19,100, H:18,900
MHE=L8 A= FH) JAL JAL 27,600 56% |%:28,000. +H:
LE% FH) JAL JAL 24,900 61% |%:26,300, 1
ME=LOFF NEES FH) JAL JAL 23,300 66% | £:24,700, £:18,300, H:20.200
WOFERs FA) JAL JAL 23,900 65% |::24,600, £:18,700, H:19,800
MHE=HE X 56 FH) JAL JAL 26,300 57%
i=9) JAL JAL 20,300 66% |#::20,800, £:21,300, H:22,200
HE HH) JAL JAL 26,300 57%
1) JAL JAL 19,400 67% |&+ H:20,100
ME=1E5 FUEAF FH) JAL JAL 20,200 67% |4
BEHE TIH) JAL JAL 20,200 67% |4
MH==E0 = FH) JAL JAL 20,200 67% |4
L% FH) JAL JAL 20,200 67% |3
MHEH=& = H) JAL JAL 20,300 68% |4
S A1 F z:)) JAL JAL 20,300 68% |3
FE=#L Tk FH) JAL JAL 20,400 68% |4
1) JAL JAL 20,100 65% |3
PAITES HH) JAL JAL 20,400 68% |3
1) JAL JAL 20,100 65% |4 £:21,200
ME=1RM [NEES H) JAL JAL 29,000 50% | £:22.400. B:25.700
EIZRIE: B) JAL JAL 26,500 62% | & +:22,100. B:23,700
ME=X% YR = CHH) JAL JAL 27,600 60% |7 :28,800, £:22,300. H:23,500
pNACGEE)) JAL JAL 19,900 67% |%+:20,600, H:24,600
Ko 5 BE CHH) JAL JAL 27,100 61% |/K:27,500, £:28,200, £:23,100, H:22,300
KR (FF1) JAL JAL 20,600 65% | 4::23,600, £:24,300, H:24,800
MHE=R& PYEES RE(CHH) JAL JAL 26,800 63% :27,200, #:28,500, £:21.900. H:24.300
KR (5 JAL JAL 23,000 66% |$1£:23700, H:25500
R RE(CHHE) JAL JAL 27,200 62% |7K:27,500, A:27,100, £:28,300, £:22,900, H:23.900
KB () JAL JAL 22,200 67% |&t H:22,900
MHE=kX [PN:ES RE(CHHE) JAL JAL 27,600 61% |7kA:27,200, £:29,200, £:22,300, H:24,300
KB () JAL JAL 21,200 67% |£:23900, +:22,200, H:24.000
AR RE(CHHE) JAL JAL 26,300 62% |%:27,400, + H:22,700
KB () JAL JAL 22,700 65% | 1:23,400. H:24,400
MHE== YRS RE(CHH) JAL JAL 26,400 62% |%:27,700, +:22,300, H:22,700
KBR (51 JAL JAL 25,200 61% |2 H:26.400
HEES HR CHH) JAL JAL 26,300 62% | JK: 7,400, £ H:21,900
KB () JAL JAL 24,900 61% |&: 6.500, H:28,800
ME=ERS YRS RE(CHHE) JAL JAL 26,000 64% . 7,600, £:20,700, H:23,900
KB () JAL JAL 23,400 66% |& 4,500, H:24.700
BERER FR CHH) JAL JAL 24,300 66% | A: %:27,800, F:22,700. H:24,700
KBR (51 JAL JAL 22,600 67% | 7KA:22.400, £ +:23.800, H:27.700
MHE=F1E ThREF FR CHHE) JAL JAL 32,700 66% |%:34,200, + H:32,000
AIEH IR CHHE) JAL JAL 32,700 66% |+ H:32.000
EE=HE EER pNACGEE)) JAL JAL 29,100 53% | :24,300, £:28,400
HEFE KBR (771 JAL JAL 29,100 53%
TEBE =l EEHE pNACGEE)) JAL JAL 24,300 59% | +:29,100. H:24,700
NI KR (77 JAL JAL 25,000 58% | +:25.400. H:29,900
EBE=X5 EEE NG JAL JAL 25,400 59% | A% +:30,600. H:28,100
Ao % KBR (771 JAL JAL 30,600 51% |£+:31.700
EE=RIK EEHR pNACGEE)) JAL JAL 27,200 61% | A:32,400, & +:32,500, H:29,000
RIS KBR (771 JAL JAL 27,100 61% | H:32,000
TEE=REX TE&EFR KR (FF1) JAL JAL 30,100 55% | H:25,800, A+:31,000, & H:32,900
REAHE KB (R F) JAL JAL 31,000 54% |+ H:32,900
EE==k TE&EF KR (FF1) JAL JAL 32,900 51% | H:29.800
1@ fE] JAL JAL 24,100 67% | A:27.300, £:28,200, H:26,200
EEES KR (FF) JAL JAL 32,900 51%
1@ fE] JAL JAL 27,300 63% |/k:24,100, A:24,500, £:26,100, +:29,400, H:28,600
EE=ERE TE&EFH KR (FF1) JAL JAL 32,600 54% | H:28,100, A:33500, £ 1:34,100
ERE% ABR (#F1) JAL JAL 32,400 54% |+:32,600, H:34,100
Wi =/ i3 FR CHHE) JAL JAL 16,800 62% 7.100. H:16.600
IMRE FIR CHH) JAL JAL 16,800 62% 7,700, £:16,400, H:17,600
Lz =Re LRz % FUR CHHE) JAL JAL 18,800 65%
e LLI ESACED) JAL JAL 18,800 65%
=L ;23 EGAERLED) JAL JAL 22,800 58% |4
NEES FIR CHH) JAL JAL 21,400 61% |+ H:19,400
W =110F§ LRz 5 R (CHH) JAL JAL 18,500 68% | H:19,000, £:18,800
WOFEH ESACED) JAL JAL 18,800 68% :19,800, £:19,000, H:20,700
W =HE iGZ3 FR CHE) JAL JAL 27,900 46%
ABR (#F1) JAL JAL 23,900 59% | H:21,000, 7K:24,700, £:25,500, H:25,600
HE RE (CHH) JAL JAL 27,600 47%
PN =) JAL JAL 24,700 58% | HA:23,900, £:24,800, H:26.300
=15 i3 FR CHH) JAL JAL 19,200 64% |%:20,700. + H:18,000
BEHE HR CHE) JAL JAL 19,700 63% |+ H:19,000
Wi == 3 ESACED) JAL JAL 19,700 63%
=T R (HH) JAL JAL 21,200 60% |%:21,600, +:21,500, H:21,900
Wiz =#10 [ii}Z3 BR CHHE) JAL JAL 21,200 62%
PG JAL JAL 24,600 56% | H:21,000, H:25,000
PAITES BR CHH) JAL JAL 20,600 63% |£+:21,000, H:22,400
KR (FF) JAL JAL 24,600 56% | H:25.400, +:25,000
W =X 23 BR CHH) JAL JAL 21,600 64% | A H:22,000, %:22,400, £:22,800
KR () JAL JAL 24,400 58% 3:20,800, H:28,400
K% RE(CHH) JAL JAL 22,400 62% | +:22,800. H:23,200
KB (R F}) JAL JAL 25,200 57% | HA:24,400, £:28,200, 1:28,100, H:27,600
Wi =Rk 23 BUR CHH) JAL JAL 21,600 66% |%:22,800. £:22,400, H:22,000
KR () JAL JAL 27,500 58% | H:23,900, +:27,900, H:29,300
RIGHE BOR CHH) JAL JAL 23,800 62% |7k A:22,900. £:24,000, H:24,800
KB (R F}) JAL JAL 27,500 58% |%:28,300, £:27.900, H:29,100
Wik =Hx [ii}:Z3 B CFH) JAL JAL 22,800 63% |7k A:22,400, £:23,200
KB (R F}) JAL JAL 24,800 61% :21,900, 7K:25,600, :27,700, £:26,400, H:27,800
AR BR CHH) JAL JAL 22,000 64% |7k A:21,600, %:22,800, H:23,600
KR (FF) JAL JAL 25,600 60% | A A:24,800, £:27.800, H:27.200
Wi == [ii}:Z3 B CRH) JAL JAL 21,600 65% |#::22,000, £:22,800
KB (R F}) JAL JAL 28,300 55% | H:25.900, 7K:29.600, £:28,600, +:30.500, H:29.800
EHEES BOR CHH) JAL JAL 21,600 65% |%:22,000, H:22,300
KR (FF) JAL JAL 29,500 53% | A A:27.900, £ 1:29,900, H:30,500
Ik =ERS 23 BOR CHH) JAL JAL 21,200 67%
KR (FF) JAL JAL 28,900 57% |%:29,700, £:28,700
BERER HOR CHH) JAL JAL 20,400 68% | H:23,200, £ +:22,100, H:24,800
KR (FF1) JAL JAL 27,200 59% [ 7:26.200. 7K:27.000, H:30.500




lEHER5|28  EEX(6A1B~6A13HEES) JAL/JTA/RAC

Wi =51\ 3 RE(HH) JAL JAL 30,500 65% |+ H:32,500
RIEFE HUR CHH) JAL JAL 30,500 65% |+ H:32,500
liE=HE =3 KBR (FRF1) JAL JAL 25,800 55% | B K:25.300, £ 1:26.300, H:24.100
HER pNACG ) JAL JAL 25,600 55% | F:24,800, 7K 7:26,000, % H:26,300., £:24,400
e =#xl =3 KBR (FRF1) JAL JAL 22,000 60% | H:22,400
[NITES pNACG ) JAL JAL 21,100 61% |#H:21,400, £:21,800
s =X% =3 KR (77 JAL JAL 22,100 61% |%1:22,600, H:25,800
Y pNACG ) JAL JAL 21,500 62% |%::24,200. £:24,900. H:21,100
e =Rk =3 KR (77 JAL JAL 25,200 61% |£+:25700, H:26.500
RIGFE KR (FFF4) JAL JAL 24,600 62% | % 1:24,700, H:26,200
e =KX =3 KR (77 JAL JAL 22,500 64% |%:25,100. £:23,000, H:25.200
BEARFE KR (FFF4) JAL JAL 23,700 62% | H:24,000, £:25,200
e ==k =3 KR (77 JAL JAL 26,500 57% | £:27,400, H:26,700
5T KR (FFF4) JAL JAL 27,100 56% |%:27,600. H:28,700
E=gR =3 KR (77 JAL JAL 25,200 62% H:24,800, /K A:25,000, £:25900, +:26,500
BERER KB (R FH) JAL JAL 26,300 60% |£:27,400, £:24,400, H:28,200
FR=HE iR KBR (51 JAL JAL 23,800 57% | H:21,700
HER KR (FF4) JAL JAL 23,600 57% | H:22,800, 7k K< H:23.800, $:22,300
Fim=l i KR (77 JAL JAL 19,500 63% |%:19.900. H:20,300
ILFE KB (FF1) JAL JAL 19,800 62% |%:21,500. £:20,900. H:19,100
FR=X% i KR (77 JAL JAL 20,600 63% |+:20,900. H:23,700
A% NG JAL JAL 19,600 64% |%:21,300. £:21,400, H:19,700
FR=RK T KR (77 JAL JAL 21,100 66% | H:22,300, £:21,200
RIGFE KR (FFF4) JAL JAL 22,600 64% |%:23,600. H:24,300
FR=FEX T KR (77 JAL JAL 21,000 65% |%:23,000, +:21,300, H:23,100
REARFE KBR (FFF4) JAL JAL 22,400 63% |#:24,100, £:23,100
FR==k Flibokid KR (77 JAL JAL 23,700 60% | H:25.000, £:23.900
5T KR (FFF4) JAL JAL 25,100 58% |%:26,100, £
FR=ER i KBR (751 JAL JAL 23,300 63% |7kA:23,500. 4
ERER KB (R F) JAL JAL 22,800 64% |7
/MY =Fe L INAFE RE(HH) JAL JAL 20,900 65% |4 H:19.600
[SIES RE(HH) JAL JAL 21,000 65% |& H:19.000
IMA=IEE INAFE FH) JAL JAL 22,400 63% |4 H:19.200
LE5% M) JAL JAL 21,500 64% | & B:19,200
MR=ILOFE INRFE H) JAL JAL 17,800 72% |4 : H:20,500
I=EZE M) JAL JAL 18,200 72% | %:18,800, H:19,300
IMA=HE INEAFE @) JAL JAL 25,900 55%
HE ) JAL JAL 25,900 55%
IMA=TES IDAFE ) JAL JAL 19,400 67% |#:21.100, £:16.600, H:18.200
BEHE ) JAL JAL 21,000 64% | +:18,500, H:18,100
INR=TEH INIAFE ) JAL JAL 22,100 62% | £:23.400, £:21,500, H:23.700
=T ) JAL JAL 22,400 62% |%:24,000, £:22,200, H:23,100
INR=FE INAFE ) JAL JAL 20,200 67% |#£:21.100, £:19.200, H:21.200
EHFE ) JAL JAL 22,300 63% | +:22,200, H:20,200
/MR=HAD INEASE ) JAL JAL 22,100 64% |£:23100, +:21.900, H:23.000
[T ) JAL JAL 23,100 63% |%:23500, +:22,200
IMR=FE M INRFE ) JAL JAL 23,600 65% | £:24,900, 1£:21,500, H:26.000
EZRES ) JAL JAL 22,200 67% | £::24,900, £:22,300, H:24,400
INR=K5 INAFE ) JAL JAL 22,200 66% |/K:21,400, £:24,300, £:21,400, H:24,200
A% FR CHHE) JAL JAL 22,300 66% |7k A:21,900, £:25,900, £:21,800, H:24,600
IMY=RIG INAFE RE(HH) JAL JAL 23,500 66% :22,300, 7K:22,700, 7&:23.900, £:24,300, 1:24.200, H:23.800
R % RERE(CHH) JAL JAL 22,800 67% |7kA:22,000, %:24,300, £:22,400, H:24,600
INY=EER INAFE RE(HH) JAL JAL 21,900 67% |/KA:21,500, £:23500, £:21,400. H:24,600
BEARHE FR CHHE) JAL JAL 21,500 68% | A:22,300, A:21,900, £:26,300, £:21,800, H:25.400
N =TI INAFE RE(CHH) JAL JAL 20,700 69% | H:21,000, £:22,300, £:21,400, H:23,000
5 B CRH) JAL JAL 20,700 69% | H:22,600, £:20,600
IMA=ERE IR FE ESACED) JAL JAL 17,500 75% |£+H:19,700
ERE% R (FH) JAL JAL 18,500 73% |&+ H:20,500
INA=EH IMAF s (R E) JTA [JUTA/RAG| 27,700 58% |7K:27,400, A& £:32,700, £:33,000. H:32,600
BoOR ShB(ERE) | JTA/RAC] JTA 28,500 57% |7K:28,200, A:33,500, £ +:33,800, H:32,600
INMA=F1E IV FE ESACE:D) JAL JAL 29,600 68% |+ H:31,100
P8 (BRER) JTA [JTA/RAC| 27,700 62% |7K:27,800, A £:33,000, +:32,800. H:32,600
RAIER ESAERED) JAL JAL 29,500 68% |+ H:31,100
B4 (BBFR) | JTA/RAC| JTA 28,600 61% | A:33,100, % £:33,300, H:32,600
fE Ll == &y fEl LLI B GIRER) JTA [JUTA/RAG| 27,300 54% |7K:27,100, A:33,500, £:33,700, H:32,900
B P43 (FBF) [JUTA/RAC|  JTA 27,300 54% |7 H:33,700
L =HR1E EES FE (IRER) JTA [JTA/RAC| 28,000 57% k- 34,400, H:32,900
RiEHE 48 (ABFR) | JTA/RAC| JTA 27,400 58% |+ H:33,800
B == B 1= JAL JAL 21,800 56% | £:22.300, £:21,900, H:23,500
EGE & JAL JAL 21,800 56% :21,400, £:22,300, £:23,200, H:21,900
HERBR) =FH hEE(RB) FE | HECHE) JAL JAL 24,700 70% |& 31,700
PG JAL JAL 19,700 76% , 21,600
EHR HR (CRHE) JAL JAL 23,800 71% +:29,900. H:26.200
NG JAL JAL 19,300 76% |%:19,700, £:20,700, H:20,100
B (BB ==IR PR FE | HECHHE) JAL JAL 26,200 67% | H:31,200
ZR¥E R (CHH) JAL JAL 25,000 69% |%:27,000, +:27,900, H:27,300
B (RE) =#E B (RB) FE | HECHHE) JAL JAL 25,200 66% | £:26,100, £:20,900, H:26,600
KR () JAL JAL 20,400 73% |&+:21,600, H:23.800
PY:ES BR CHHE) JAL JAL 26,200 65% | £:33,200, £:27,000, H:22,400
NG JAL JAL 20,600 73% :21,100, + H:21,600
R (BB =15 EAE PN G S)) JAL JAL 25,800 67% | H:34,100
12 JTA JAL 35,600 57% :35,900., 7K:32,400. K:33,000, £:34,100, £:37.000. H:37.800
TEEF KB (1) JAL JAL 23,900 70% |$+:28,700
12 JAL JTA 32,400 61% :32,700, 7K:35,600, £:36,600, £ H:33,800
B (BB =1LR HEERB) FE | HECHE) JAL JAL 21,800 67% | H:26,800
KR (FF) JAL JAL 25,000 67% A:21,300, H:26,600
23 RE(CHH) JAL JAL 21,400 67% |&+:27,500
KR (FF) JAL JAL 21,300 72% |7K:25,000, +:25,800, H:25,000
AR (BB =lE R (B F 1@ f] JTA JAL 28,700 65% | H:29,000, A:29,300. :30,500, £:31,000, H:32,100
KBz () JAL JAL 21,300 71% | H:20,100
L& % fafE JAL JTA 30,000 63% | H:30,300, £:33,500, £:31,700, H:33,700
KR () JAL JAL 21,300 71% [£:21,600, B:21,400
HEE (B = /MR PR FE | R CHE) JAL JAL 21,300 70% |%:22,500. £:20,800, H:27,300
N RE(CHH) JAL JAL 20,500 71% |%:26,600, +:26,100, H:23,100
R (BB =58 PR (R @ JTA JAL 25,900 56%
=A% & JAL JTA 25,900 56%
B (BRER) =HAl PR (R & JTA JAL 24,100 56%
AL & JAL JTA 24,100 56%
HR(HHE) =&%XE FR CHE) ERE JAL JAL 24,500 65% | H:24,900, A:25,400, £:26,600, £:28,700, H:25,700
KR FFH) JAL JAL 29,500 56% |+:30.400. H:29,600
EEPNEES ERE JAL JAL 24,100 66% | H:26,900, A:24,500, £:30,700., £:25,800, H:29,400
pNTACGTE)) JAL JAL 30,800 54% |%:31,300, £:30,500, H:30,600




ME#MI5I28 1 EHER(6A1B~6A130EESD) JAL/JTA/RAC
RR(HIBE) =ERE BRI CHHE) 3 BRS JAL JAL 26,500 63% |7kA:25,700, +:28,600
BEAS JAL JAL 23,500 63% | F:24,500. A:24,100. £:26,100. T H:26,900
ERER B JAL JAL 25,300 65% |%:30,300. +:28,100, H:30,600
E PN JAL JAL 23,500 63% | A H:26,100, A&:21,700, £:24,500
RROHB) =828 IR CHE) 3 B JAL JAL 27,400 64% | A:28,300, £:29,500, £:31,600, H:28,200
EPNE) JAL JAL 25,700 62% | 7:26,700, A:26,300, % H:28,300, £:29,100
BeER BRS JAL JAL 26,600 65% | H:29,400, £:31,600, £:28,300, H:31,900
FRCHE) =k RE FR CHE) BRES JAL JAL 28,200 64% | H:28,600, A:29,100, :30,300, +:32,400, H:29.000
Sk RERFE BRS JAL JAL 27,400 65% | 8- . %:32,800, £:29,100, H:32.600
HRCHB) =5 FR CHE) % BERS JAL JAL 28,700 64% ; £:32,900. H:29,500
Sim% BRES JAL JAL 27,900 65% 32, . H:33,200
E PN JAL JAL 29,300 61% | A H:31,000, 27,500, £:30.300
K (FFH) =FEEKE ABR (5} 5 EES JAL JAL 22,900 60% |%:23,000. +:23,200, H:23,700
EERSE BERS JAL JAL 24,300 57% | A:24,700, £:26,500, £:23,900, H:25,300
KR () =ERE KBR (5 5 BEREE JAL JAL 25,300 57% |7k AK:25,500, £:25.900, £:26.300
E PN JAL JAL 27,600 47% | H:28,400
ERER BRS JAL JAL 25,500 56% |%:26,100, +:25,100, H:26,500
E PN JAL JAL 27,600 47%
KR () =828 KBR (5} 5 UGl JAL JAL 26,600 57% | H:26,200. 7k AK:26,400, £:26,800, 1:27.400
BB BEE JAL JAL 26,800 56% |:27,400, +:26,400, H:27,800
BERE JAL JAL 29,800 47% | £:30,200
KB (7 =ik RED ABR (FRF) % BRES JAL JAL 27,000 58% |/KA:27,200, £:27,600, £:28,000
ok RERFE UGl JAL JAL 27,600 57% | 7:28,000. £ H:28.600.
KR (7FH = KR (77 % BERE JAL JAL 27,500 58% |/KA:27,700., %:28,100. 1
BERE JAL JAL 33,400 48%
5% BRES JAL JAL 28,100 57% |%:28,700. £:27,700, H:29,100
BR=EXXE [ BRS JAL JAL 18,500 61% |5:18,900. £:16,900, H:18,600
EEREE BRES JAL JAL 20,600 57% | A:21,000, £:22,200, * H:19,000
EE=E55 [HEES BERES JAL JAL 22,200 55% |+ H:20.600
BEXS JAL JAL 21,300 55%
ERER BEXS JAL JAL 21,300 55%
ER=Z8 EEEES BER JAL JAL 23,100 55% | £:21,500, H:21,900
BERE JAL JAL 23,500 55%
BeER BR JAL JAL 23,100 55% |+ H:21,500
PN JAL JAL 23,500 55%
o CRE) =58E R CHE) % AiE JAL RAC 37,800 53% |+ H:38,500
RS H"f%(?iﬂaq) RAC JAL 28,000 65% | H:31,200, %:33,500, £:33,000, H:34,600
RAC JAL 37,800 53% |+ H:38,500
AR (1) =5 3RE SMER H"f%(?iﬂaq) RAC JAL 25,800 64% | H:25900
Kz (BdE) =5 3E KB (BH7E) 5 AiE JTA RAC 34,300 49%
RS s (ARER) RAC JTA 34,500 52% |#:35.100, £:33,300, H:37.000
AiE RAC JTA 32,500 52% | F:33,600, £:31,000, £:31,900, H:34,100
ZEE(PER) =5 HE SBEF shiE (ARER) RAC JTA 38,300 50% |HA%+H:38700
il =53 E EENEES PR (BRER) RAC JTA 34,500 52% |%:35,100, +:33,300, H:37,000
&6 = 5 FRE SIESR s (ARER) RAC JTA 29,200 55% | A:29,800. £:30,900. + H:31.400
R (RE) =5 E B (ARER) aiE JTA/RAC| RAC 9,800 75% |[BAH:10,100, £ +:9,200
SRER aiE RAGC |JTA/RAC| 9,500 75% | 73:9,700, %:9,200. £:9,100. H:9,800
RR(PA) =AXE RIECHE) % | h#E(GE) JAL |JTA/RAC| 21,100 64% |%+:27,700, H:23,600
AKEH SRR (BER) | wautarac]  JAL 19,800 66% | H:23,100. £:25,600. £:24,900. H:26.100
KR () =AXKE AR(EFH 3 | ih#E (ARER) JAL [JTA/RAC| 24,100 53% |%:25,000, £:25,700, H:24,700
AXESH B (BRER) | oautamec]  JAL 24,200 53% |%:23400, £:22,600, H:27.400
KR (BFE) =AXKE pNUAGCEHES SRR (IRER) JTA [JUTA/RAG| 29,700 42% [%:29,500, £:30,600, H:28,800
AXKEH B (BRER) | oavuramec]  JTA 29,700 42% , +:24.100. H:28.400
AHE (PR =AKE EEEICERE AT EIE ) JTA | JTA/RAC| 31,100 45% ,700, £ H:31,400, £:32,100
AKEFH SPEB(ARER) |avuara|  JTA 30,500 46% | AK: t H:31,000
wBR=AKE FEEES SRR (AR ER) JTA | JTA/RAC| 24,500 44% | &:24, 4,900
AXEH SRR RE) [ svvarc]  JTA 24,400 44% | $::24,500, £ H:24,600
R CHHE) =Rk RECHE) % | KRR JAL JAL 20,100 61% | A:20.300. %:20,400. 19,500, H:19.200
[ ] JAL JAL 25,400 46% | F:25,800, % £ H:25500
[ECES pNACGEE)) JAL JAL 19,500 62% |%:19,700, +:18,900
[ ] JAL JAL 25,900 45% 6,700
R (BB =R SRR (BB FE | ABR (FFH JAL JAL 20,600 1% :21,100, £:20,100, H:21,800
Rk KB (R FH) JAL JAL 19,100 74% _[£H:20,200
12t = FLIE (T F %) FEEES R CHE) JAL JAL 31,700 60% | A:32,500, %:35,400, £:34,800. H:29,800
IR TR F | | H JAL JAL 30,900 61% | 7:31,200, £:35,700, £:32,900, H:36,000
BEH=%m5 ERE JAL JAL 20,300 58% | AJKA:19.900. F:15.900. H:16.800
ESTLIES JAL JAL 20,800 57% [#:21.200, 22,500, £:17,200, H:15,500
=% [N JAL JAL 21,700 59% 18,600
ESTRIES 3 JAL JAL 21,700 59% | £:18,600. H:17,700
ZHE (FE) =L A= (HAR) # ) JAL JAL 21,800 66% | 7KAK:21.400, £:22.700
HILFE @) JAL JAL 20,200 69% |#:21,000, £:21,400, H:22,200
ESHGEIRS I P HGEDE BE=D) JAL JAL 23,000 65% | A:23,800, £:24,000, +:24,600, H:24,200
FEIES FE) JAL JAL 21,000 68% |7k A:20,600. H:21,800
B =% = BE=D) JAL JAL 28,300 65% 30,300, H:28,900
@) JAL JAL 28,100 65% 28,900, £:26,200. H:30,300
EE=%H5 z:)) JAL JAL 26,400 67% 26,300, H:26,000
H) JAL JAL 26,200 68% 27,400, £:24,200. H:25,600
KP=%iG5 ) JAL JAL 23,400 73% 24,400
) JAL JAL 23,400 73% 24,400
RIE =2 Rl z:)) JAL JAL 23,900 74% 25,000
@) JAL JAL 23,900 74% 25,000
RRA=ZER z:)) JAL JAL 23,900 73% 25,000
@) JAL JAL 23,900 73% 25,000
= I = 2 H) JAL JAL 23,900 73% 25,000
BED) JAL JAL 23,900 73% 25,000
BRE=%m5 E ) JAL JAL 23,900 74% 25,000
H) JAL JAL 23,900 74% H:25,000
WIRGFFR) =BEKE ) JAL JAL 32,400 64% 33400, A 35, ]
) JAL JAL 31,800 65% -34,400, , ,
BEHR=-EEXE H) JAL JAL 29,800 66% 30.800 - : :33,
FE) JAL JAL 29,800 66% -32,400, A:28,000, , £:30,800,
ME=FEXXE BLE=D) JAL JAL 31,800 61% :32,800, 7K:32,400. , 29,900,
B) JAL JAL 30,400 62% -33,000, A:28,600. , 27,100
IMA=TEEXRE H) JAL JAL 26,000 67% :27,000, K: ] £:29,000, H
B) JAL JAL 26,000 67% :28,600. 7 : . H:28,200
= =g H) JAL JAL 27,600 65% H:29.100
) JAL JAL 27,500 65% H:30,700
mE=FI% R (HH) JAL JAL 25,700 67% H:26,200
) JAL JAL 25,600 67% H:26,000
Ko =8 N % FR CHHE) JAL JAL 22,400 74%
I EACE:D) JAL JAL 22,400 74%
R =8I R FR CHHE) JAL JAL 22,900 74% |&+H:23
FEES HUR CHH) JAL JAL 26,800 70% :28,500, 7K A:26,000, £:29,000, £:30,600, H:32,000
RA=FI% RRAR FR CHHE) JAL JAL 22,900 73% |+ H:23,900
ETEES EGACREED) JAL JAL 26,800 69% | :28,500. 7K A:26,000. %:29,000. £:30,600. H:32,000




lEHER5|28  EEX(6A1B~6A13HEES) JAL/JTA/RAC

EiE =4I EGE RE(HH) JAL JAL 22,900 73% >+ H:23.900
SIER 5 RE(CHHE) JAL JAL 26,800 69% | H:28,500, 7k A:26,000. %:29,000. £:30,600. H:32,000
BERE=43I% BRER R (HH) JAL JAL 22,900 74% + H:23.900
PR FE EACR:D) JAL JAL 26,800 70% | H:28,500, 7k &:26,000, %:29,000. £:30,600, H:32,000
R (RE) =8I SRR (RE) FE | R CHH) JAL JAL 27,000 70% |#+:27.400, H:34.700
SERFE EACE:D) JAL JAL 25,800 72% |%::27,800, £:30,400. H:30,900
PREEEDN PNEES Eﬁ:*i(ﬂ% ) JAL JAL 27,700 65% |7k A:27.300, £:26.500, H:28.000
THILFE ) JAL JAL 26,100 67% |%:27,300. £:25,600. H:26,000
Bm="Ik BT ) JAL JAL 27,800 64% |7k AK:27.400, £:28,500, +:29.400. H:30,500
HILFE ) JAL JAL 26,900 65% |%:28,100. £:25,900, H:29,300
BE=FL BER ) JAL JAL 25,900 67% | 7KA:25,500, £:25.400, H:27.600
THILFE ) JAL JAL 25,000 68% | £:26,600. 1:24,200. H:24,600
Ko =HIk PN ) JAL JAL 22,000 74% £+ H:23,000
FILFE ) JAL JAL 22,000 74% %t H:23000
RBE="IL R ) JAL JAL 29,200 67% |7 oo A:28,300, £:29,400. £:30.300, H:33.400
HILFE ) JAL JAL 22,500 75% |3
BEA=FL REAR ) JAL JAL 22,500 74% |3
HILFE ) JAL JAL 22,500 74% |3
B ="%5 EGES ) JAL JAL 22,500 74% |3
HILFE EACE:D) JAL JAL 22,500 74% |4
BRE=Fk BREH R (HH) JAL JAL 22,500 75% |4
FILFE EACE:D) JAL JAL 22,500 75% |4
B =& ENIE: R (HH) JAL JAL 28,500 64% | JKA:28.100. %:28.000. £.26.200. H:29.800
BnFE EACR:D) JAL JAL 30,600 61% 7K:28,200, A&:29,000. $:30,400. £:31,300. H:30,900
HEE=E"0 [ R (HH) JAL JAL 28,100 60% | 5:28500, £:28,700, £:25,500, H:30,600
BnFE EAC:D) JAL JAL 26,600 62% | % 1:28,200, H:28,300
HE=ES AR R R (HH) JAL JAL 26,200 62% | H:26,600, £:27,200, £:23.800, H:25900
BEHE FR CHH) JAL JAL 25,100 64% |£:26,300, £:24,200, H:25,400
RRCAE) =ER ia CRIH) % AR JAL JAL 23,500 55% | A:20,900, 7K:20,500, A:21,000, £:22,500, + H:24.800
BRFE B JAL JAL 21,300 59% | :21,700, £:21,500, £:22,000, H:24,700
ABR () =BFR Y3 S JAL JAL 21,800 64% |+ H:23.100
S (R®) =5 SRR (GBRER) & JTA JAL 25,100 58% | :25,400, A:25,700, £:26,700. £ H:27,200
BEFR [ JAL JTA 24,500 59% | H:24.800, £:25,500, £ H:25.900
BI=1E5 JENIE: FR CHHE) JAL JAL 25,800 67% |A K:25,400, £:27,000, £:24,200, H:25,100
BER EACED) JAL JAL 28,700 64% | B 7K:27,900. %::28,100. £ H:28,000
BIlI=X% JEIES RERE(CHH) JAL JAL 21,400 75%
PN IR CHH) JAL JAL 21,400 75%
LR (EXR) =B8R AL (2R 5 JAL JAL 17,600 50% |4
HRFE JAL JAL 17,600 50% | £:17.100. H:14.600
SIER = BEE SERF JAL JAL 19,700 53% | H:19,500
HEEF JAL JAL 19,700 53%
SIEE==R FEES JAL JAL 23,700 49% | F:18,800, H:21,000
= R% JAL JAL 20,200 57% | £:21,000. H:23,700
FIR =K FlRFE JAL JAL 20,500 53% | +:18,800, H:23,000
HEEF JAL JAL 23,000 47% | F1:18,800. H:20,500
FlR =8I FEES JAL JAL 23,700 50% | A H.18.800. 720,200
ZR=FIR ZR%E JAL JAL 19,800 60% |+ H:22,000
BERE=1EII ERER ) JAL JAL 21,900 76% &t H:22,
B FE) JAL JAL 21,900 76% &
Rig=J8Il R % RERE(CHH) JAL JAL 21,900 76% |&
JENIE: EACED) JAL JAL 21,900 76% &
REAR=1E)II RAR FR CHH) JAL JAL 21,900 75% |&
JENIE: EACED) JAL JAL 21,900 75% &
BiE=1HeJI EGE FR CHHE) JAL JAL 21,900 75%
JENIE: IR CHH) JAL JAL 21,900 75%
RRECHH)=XE EGACEEDES X JAL JAL 19,000 63%
REFH S JAL JAL 18,200 65% I
EGACREEDET 1= JAL JAL 24,200 58% 26.400. T.25.300. H:25.000
KXEHE 2 JAL JAL 26,800 53% |%::29,300, £:26,000, H:28,400
KB (5 =XE KB (5 5 BEX JAL JAL 16,300 56%
XEH REAR JAL JAL 16,300 56%
KB (5 5 1= JAL JAL 17,800 56% |&+:18.600
XEH 1a [ JAL JAL 17,800 56% | £:20,700. H:20,300
IR FFR) =KE ALIR BT ik) 5 & JAL JAL 29,600 60% | H:31,000
REH & JAL JAL 29,600 60% |#::30,200, £:31,000
BERE=FKRE N meE JAL JAL 11,900 57%
ok RERFE EB2E JAL JAL 11,900 57%
B2 5= (B8’ BER SHK R JAL JAL 15,600 54%
. 1€ 1 )F Shk RER JAL JAL 15,600 54%
RR(CHA)=#F5 RECHHE) % BES JAL JAL 21,200 64% | H:21,600, A:22,100, &
EYEHX ERS JAL JAL 20,800 65% 25,400,
RR(CHA)=EAS5 RECHHE) % BES JAL JAL 20,300 66% 21, 22,400, ,500, H:21,
BAEH ERS JAL JAL 19,600 67% | H:22,300, 7KA:19,500, %:24,500, £:22,800, H:24.800
K (FFH) =BA S KB (5} 5 BES JAL JAL 19,600 58% 20,300, H:19,200
BAEH ERS JAL JAL 19,700 58% :19,300, H:20,700
BR &= (B8’ ERER BEKRE JAL RAC 18,200 66%
PR (RE) F BEXS RAC JAL 18,200 66%
EBR=BAB FEEES BES JAL JAL 16,000 57% |t H:14.400
BAEH EES JAL JAL 16,000 57% |+ H:14,400
EE=1EFE5 BEFE BES JAL JAL 16,900 53% | H:17.300, £:15,300, H:15,700
BIER ERS JAL JAL 17,300 52% | H:16,900, £:15,600, H:15,300
RE=HJI LE% FUR CHHE) JAL JAL 30,400 62% | Akt H:28.900, A:29,700, £:29,900
EIIES FIR CHH) JAL JAL 27,300 66% |7k A:26,900. £:27,700. £:25,600. H:26,500
== NI 12k JAL JAL 18,500 60% |H:18,000, +:19,400, H:18,400
5] 1@ fE JAL JAL 17,200 63% |%:17,600, £ H:18,400
EEHE AL EPNE] SRR GRER) % 5 RAC JAL 16,000 59%
EEREE 5 iR JAL RAC 16,000 59%
B =K HRHE *LW%(EH:) JAL JAL 18,000 55% |t H:15,000
BREE S AL (FLE) JAL JAL 18,000 55% |+ H:15.000




IsEHrEI5128)

EER(6H14B~6H30AEES)

JAL/JTA/RAC

EEEAD 2022/6/1
XF 23k U0} BER 6/14-30 | EEH EE
TRED | K| Bl51®
HRCHE) =% REECHE)FE | B4R (&) JAL _[JTA/RAC 4,100 4% | B:27,100, 7K A:24,300, %:26,600, £:27,900, H:25.300
BEOH SP4E(BBFE) |JTA/RAC|  JAL 3,200 5% | H:27.000, JKAK%:24,300, +:24.400, H:27.700
RRCHE) =FR1E ?:m FHE)FE | v GEBR) JAL | JTA/RAC 7,200 3% | F:28,000, £:27,100, £:28,600
KB (BH7E) JAL JTA 36,600 55% | A £:37,000, 7K:36,200, & %:36,900. H:36,000
A% SR#E(GIME) | JTA/RAC|  JAL 27,100 63% | H:27,200. H:28,100
KR () =% 5 KB (D | B CHHE) JAL JAL 25,700 65% |%:25.800, £:25.900
ALIEGHETm) | JAL JAL 29,800 58% |%:32,300
ESEEES BRIR CHH) JAL JAL 25,500 65% | H:25.900, 7K:24,400, A £:25.700, £ H:26.200
ARG TFR | JAL JAL 30,900 57%
KR (B7E) =% 5l KB (BE78) & | IR CHH) JAL JAL 22,800 69% | A A:23,200, 7k:22,400, £:23,700, £:23,900, H:23,400
AR GERTFR | JAL JAL 28,600 60% | £::29,300
ESEEES BRIR CHH) JAL JAL 24,000 67% | B A+:24,400. 7k:23,600. £:24,900, H:26,400
AEGERTFR | JAL JAL 27,800 61%
KBR (55D =Rl ABR(FFDF | HECHE JAL JAL 27,000 62% |7K:26,400. A:27,800. £:27,300, £ H:28,000
FENIES JAL JAL 25,100 65% | 7:25,500, 7K:24,000, A:25,300, £:27,700, £:26,000, H:27,100
KB (BE7E) =Rl pNGAGCEHES JAL JAL 23,500 67% | H:23900, 7K:23,100, A:24,700, £:24,100, £:27,200, H:26,400
JBIIFE JAL JAL 23,400 67% | A A:23,600, 7K:22,800, %:24,100, £:24,600, H:25,400
KBR (55 =8IE% KBR (5} 5 JAL JAL 24,800 65% | +:25,100
FEES JAL JAL 24,900 64% | A A+:25,100. /K:23,800. %£:25,800. H:27,300
KB (BE7E) =SIE% PNAGEHES JAL JAL 21,800 69% |+:23,100. H:23,600
FEES JAL JAL 23,800 66% |/K:23,000, £:24,500, £:24,700, H:27,400
KB (5D =%IE KR (75 % JAL JAL 25,400 64% | 5:253800, 7K:24,800, £:25,700, H:26,600
HLE JAL JAL 24,300 65% | B A:24,500, 7K:23,200, %:25,400, £:25,000, H:25,200
KB (BE78) =I5 pNGAGEHES JAL JAL 22,200 68% | HA%£:22,300, +:23.700. H:25.000
HILFE JAL JAL 23,200 67% |7K:22,400, %:24,100, £:24,800, H:25,400
KR (5} =R KBR (5D 5 JAL JAL 23,400 62% |7K:22,900, £:24,300, £:24,.900, H:24,500
Bk JAL JAL 25,500 59% | A A£:25700. 7k:24,400. £:26,000, H:26,400
KB (BE76) =R KB (BH76) 5 JAL JAL 22,200 64% | %£:22,900, H:23,400
AT 5 JAL JAL 24,000 61% | 7 At :24,400, 7k:23,600, %:24,700, H:26,600
KB () ==iR ABR (5D 5 JAL JAL 24,200 59% |/K:23.400
=IR% JAL JAL 24,300 59% | B A+ H:24,500, 7k:23,000, £:25,000
KB (Bi#E) ==iR ABR (BH7E) 5 JAL JAL 21,400 64% |/k:21,200
=IR% JAL JAL 22,800 62% | A A T:23,200. /K:22,200. £:23,700. H:23,400
KBR (5} =Rk KBR (75D 5 JAL JAL 14,400 60% JEI 14,800
PRI 5 JAL JAL 15,100 58% | £:15,900
KR () =BF& KBR (5} 5 JAL JAL 20,400 55% | 7KZK:20.200, £ H:20.600, £:21.000
BYEX JAL JAL 20,600 54% | A /KA £:21,000. & H:21,600
KB (5D == pNAGEEES JAL _[JUTA/RAC| 26,400 55% | H:28,300, %:27,500, £:29,800, H:27.400
B JTA/RAC| JAL 25,600 57% F:27,100, £:24,500, £:26,500, H:29,000
KB (BH78) ==& pNAGEHES JTA [JTA/RAC| 30,800 48% | F:31,200, 7k A:30,900. :30,400. £:31,700. H:30,500
BO R JTA/RAC|  JTA 30,800 48% | F:31,200, 7K:30,900, %:30,100, F:30,300
KB (5D =FR1E ABR (75D 5 JAL [JUTA/RAG| 28,400 57% |+:30,200
AiEH JTA/RAC| JAL 27,200 58% | H:27,400, H:29,300
KB (Bi#8) =R1E ABR (BH78) F& JTA [JUTA/RAG| 31,300 52% | HA:32.100, 7K:31.800, £:32.600
RiEZ JTA/RAC|  JTA 31,300 52%
2 E (PER) =%iER| B (PED) % JAL JAL 31,900 52% |%::32,900
ESTEIES JAL JAL 25,200 62% | A:25,600, £:27,400
2EE(FE) =25 ZEE(REFK | H JTA [JUTA/RAG| 31,800 50% | H:31.700
BhR JTA/RAC|  JTA 31,100 51% | H%:31,700, 7K A:31,200, £:31,800, H:31,900
Z2HE(hE) =FhiE %HE(EF*“B)% | JTA [JUTA/RAG| 31,800 55%
RIEH ;‘mﬁ%(%ﬂﬁ) JTA/RAC| JTA 31,800 55%
IR BT =/ FLIE T i) % JAL JAL 23,300 63% | 7A:23,700, £:26.100, H:27.300
INAFE M) JAL JAL 23,600 63% | 7k:23,300, A:24,400, £:26,900, £:27,200, H:25,000
IR IR =FmiLaE |[REGTFR)E @) JAL JAL 28,500 60% |4:28900, +:30,100, H:29,300
e BE R z:)) JAL JAL 28,400 60% |7Kk:28,000, A 9,200, £:30,700, H:31,400
IR TR =’ *L’I‘E(%ﬁﬂr—ﬁ)% H) JAL JAL 28,400 61% |7kA:28,200, £:29,900, H:31,100
1T B) JAL JAL 25,900 64% | A:26,700, £:29,000, £:29,900. H:26,600
IR FHTFR)=LS *L’I‘E(%ﬁﬂr—ﬁ)% @) JAL JAL 28,400 61% | A /KA £:28500, £:30,300, H:31,100
LhE% B) JAL JAL 26,700 64% | A:27,500, £:30,500, £:30,200. H:26,900
FLIE (BT &%) =LA FE TR | BR(HA) JAL JAL 25,300 67% |%::26,800, H:31,300
ISE3E:S EX (225 ) JAL JAL 25,600 67% | A:26,400, £:29,600, £:30,000, H:27,300
IR TR =HE FLIE T %) % H) JAL JAL 31,000 56%
HER M) JAL JAL 31,000 56%
IR FHTFR) =ES FLIE T k) % @) JAL JAL 26,900 63% | A:27,700. . B:28,900
EEF B) JAL JAL 26,800 63% | A:27,700. . £:28,600
IR FHTFR) =ai *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 28,800 60% K:29,600, . H:33,000
EIFE z:)) JAL JAL 27,600 62% K28 ,400, . £:32,400, H:29.300
IR FHTFR) =2 *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 29,400 60% :
H) JAL JAL 28,100 62% . £:32,700, H:28,600
IR TR =l *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 30,100 60% | £:32,700,
L% H) JAL JAL 29,200 61% | A:30,400, &: . £:33,600, H:30,200
ALIR FF ) =L *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 31,100 61% |%:33,000, H:
EZENES H) JAL JAL 27,600 66% | A:28,400, &: . H:30,600
IR FHFR) =KD FLIE T ik) % H) JAL JAL 28,100 64% 5:28,900, . £:29,200, H:34,700
2 H) JAL JAL 28,800 63% | 7K:29.200. . £:34.400, H:30.800
IR FH TR =R& FLIE T ik) % @) JAL JAL 29,000 65% | H A:29,400. 32,000, £:29,600. H:35,700
R % RECHE) JAL JAL 28,800 65% | A 7K:29,200, 32,400, +:34,000, H:31,400
IR BT %) =8 *Lil!i(%ﬁﬂr—ﬁ)% Eﬁm(iﬂz ) JAL JAL 28,900 64% | AK:29,300 29,500, H:35,400
H) JAL JAL 28,000 65% | A:28,800. . H:31,600
IR FHTFR) =28 *Lil!i(%ﬁﬂr—ﬁ)% H) JAL JAL 28,100 65% | %:30.600.,
EI5R B) JAL JAL 28,000 65% | 7K:28,400. . £:33.200, H:29.800
LREFFR =ERS *Lmi(ﬁqiﬁ)% B) JAL JAL 26,900 67% | F:30,100. % . B:34,900
ERES H) JAL JAL 26,000 69% | H:28.000. . £:34,000, H:32,200
WIREF TR =R B | LIREFFR)E H) JAL JAL 31,900 62% | A:32,100, £:35, . H:34,800
) JAL JAL 18,800 78% | £:21,000. H 20.200
JAL JTA 31,800 63% | H:33,300, 7K A £:32,600. %:34,200, H:39,300
JAL JTA 35,400 61% | HsKA%:35600, +:36.800. H:37.900
R (B F JAL JAL 31,300 63% | A:32,100. £:33,800. H:34,500
JAL JAL 18,700 78% | +:19,300, H:24,000
JTA JAL 29,100 66% | H:28,600, 7k A% £:29,200, H:27,900
JTA JAL 30,500 65% |7K:29.900, K 9,600, H:30,000
JTA JAL 35,400 61% | A /K:35,600. A& %::36,000. £:36,800. H:37.900
IR FHFR) =F1E *Ld‘i(%ﬂ'—ﬁ)% JAL JAL 36,000 66% |+:37.600, H:41,100
HH JAL JAL 35,500 66% | A:35,900, £:35,700. £:39,200. H:39,900
12 = %) ?al‘l% JAL JAL 32,300 64% | 7:31,900, £:33,300, +:32,800, H:34,500
JAL JAL 31,400 62% :32,500, £ H:30,300
ESTEIES JAL JAL 30,600 66% :31,000, 7K:30,700, %:34,400, £:31,400, H:35,200
JAL JAL 25,700 69% | AK:26,200, %:27,100
2 =1eI 128 JAL JAL 33,400 62% | A:33,3800, £:34,800, £:36,100, H:36.900
JEIIES HIR CHH) JAL JAL 29,800 66% | H:30,200, £:29,900. £:33,700, £:31,800, H:33,600




IsEHrEI5128)

EER(6H14B~6H30AEES)

JAL/JTA/RAC

2 = S 1] 7 JAL JAL 31,400 64% | A:31,000, % £:32,000, H:34,700
IR JAL JAL 30,000 65% | A:30,100. & :31,400, H:36,300
12 ="HI5 [ JAL JAL 31,800 63% | H:32,200, K: :32,600, H:36.000
HILFE JAL JAL 29,400 66% | A:29,500, £ +:31,500, H:34,200
RS FEEES JAL JAL 28,600 63% | A:28100, & . H:34,500
JAL JAL 27,600 60% |%:30,600, £:30,
HEEF JAL JAL 30,600 61% | :30,700, A:30,100. £:31,800. H:32,600
JAL JAL 24,300 65% | A:26,400, £:27,800, £:25,000, H:28,000
BE=5% [HEES JAL JAL 23,000 70% |#+ H:23,800
JAL JAL 19,200 71% | A:19,600, £:21,400, £:22,000, H:20,400
EHR JAL JAL 23,000 70% |#+ H:23.800
JAL JAL 19,200 71% | A:21,300, £:23,100, £:22,300, H:24,500
2 ==iR [ JAL JAL 21,000 72% |#+ H:21.800
ZiR% JAL JAL 21,000 72% |4t H:21,800
JAL JAL 21,500 69% | A:23,600, £:27,800, £:27.400, H:30,600
2l =#m 2 [ 5 JAL JAL 30,700 56% | 7K:30,300, A:30,400
EFE JAL JAL 29,500 58% |7K:29,200. A:29,600. £:32,600
JAL JAL 20,100 68% | A:21,300, £:23,400, £:22,000, H:23,600
[EEEEA EEEES JAL JAL 23,200 62% | A:22,700, £:25,300, £:23500, H:27,500
JAL JAL 23,700 62% |#::26,300, £:25,500, H:24,500
Wi % JAL JAL 22,800 63% | A:24,300, £:253800, £:25,700
JAL JAL 25,300 59% | A:27.400. £:29,600. H:29,000
[EEEURA [ JAL JAL 24,400 64% 3:25.200, % H:26.700
INRFE JAL JAL 26,700 60% | 7K:26,400
fBE==0 [ JTA [JTA/RAC| 25,000 51% | <:25300, £ H:25,700
EREd JTA/RAC|  JTA 24,800 52% | A 425,000, £ H:25,400
B =Hh1E 1RE JTA_[JUTA/RAC| 25,600 56% | B A£:26,200, 7K:25,900, + H:26,400
RiEHE JTA/RAC| JTA 25,300 56% | H%:25500, £ H:25,700
TR =Te% ESTRES JAL JAL 23,900 55% | H:26,000
TEEHR JAL JAL 23,900 55% | :24,600, +:24,200, H:26,000
ZiER=lE 2 it Al 5 JAL JAL 25,000 56% | H/KAK#£:25100
& JAL JAL 24,600 57% |HsK&+:25100
SR ) ESRES JAL JAL 24,900 57%
aR JAL JAL 25,700 56% |%:26,300
R = MR ESTRES JAL JAL 22,600 69% |5 :23.,000, £:22,900, H:24.800
A JAL JAL 23,900 67% | 7k:23,600, £::25,000, £:24,400, H:25,400
2 A = R L ESRES JAL JAL 27,700 66% |5 <:28,100, H:27.800
iE] L1y ¢ JAL JAL 27,900 66% |+ H:27,500
TR =58 2 i Bl 5 JAL JAL 27,300 67% | H:27,700. 7k A +:27.400. £:28.100, H:27,800
LE% JAL JAL 28,200 66% | A /KAt H:28.300. £:29.000
JAL JAL 27,600 64% | £:30,300
Zimpl=HE it Bl 5 ) JAL JAL 34,200 57% | A %:34,600, A:35,100, £:34,500. H:35,900
HiE 5 ) JAL JAL 35,100 56% |%:35400, £ H:35,900
iA=L SRS ) JAL JAL 29,400 65% | H:29,800, £:30,900, H:32,600
ALFE ) JAL JAL 28,700 66% | A:29,200. £:29,500. £:30,800. H:30.200
ZimBl=H1iE it Bl F ) JAL JAL 37,100 68% | H:37,500, +:38,600, H:40,100
AiES ) JAL JAL 36,700 68% |<:37.800, +:38,100. H:40.300
IDEDSA FENIES ) JAL JAL 22,200 68% | H:22,600, 7K:22,000, £:25,300, £:24,900, H:25,700
INEAFE ) JAL JAL 24,200 66% | A:25,000, £:25,200, £:27,700. H:28.400
BlIl=rftaE JENIES ) JAL JAL 21,900 72% | H:22,700, £:26,700, +:26,100, H:27,300
EE=hd ) JAL JAL 30,200 61% | H:30.600. 7K:29.800, £:30.700, 1£:31.400, H:34.400
JBII=FE0 JENIES ) JAL JAL 26,900 66% | 7:27,300, £:29,200, £:27,800, H:28,600
[EES ) JAL JAL 26,200 67% | A:27,000. £:27,200. £:30,900. H:29.400
BI=HE JENIE: ) JAL JAL 33,600 57% |7:34,100, &+ H:35,900
HIE 5 ) JAL JAL 35,800 54% | A%+ H:35.900
TBI=#0 JENIES ) JAL JAL 28,600 65% | 3:29,000, £:30,100, £:29,700, H:31,600
ALFE ) JAL JAL 29,400 64% | A:30,700. £:30,400. £:34,100. H:33,200
BII=RiE JBIII%E ) JAL JAL 36,500 68% | +:39,700, H:39,500
AiESH ) JAL JAL 37,500 67% 7,600, £:39,900. H:43,300
FIEEN SIERF ) JAL JAL 22,400 68% 4,100, H:25,900
INAFE ) JAL JAL 23,000 67% :23,600, H:25,600
1ER =1L SIERF ) JAL JAL 27,100 66% —0:28.900
TeE] LLI 58 ) JAL JAL 27,000 66% 26,600
fIER =155 SIERF ) JAL JAL 26,700 66% +:26,800, £:27,700. H:28,900
NEES ) JAL JAL 27,300 66% | H/KAL H:27,400, £:27,500
flgg=HE SIERF ) JAL JAL 34,000 56% . %:34,600, +:35,700, H:35.900
HE ) JAL JAL 34,200 56% H:35,600
FIER =#21L SIERF ) JAL JAL 28,800 64% H:33,700
ALFE ) JAL JAL 27,800 66% £:28,000, £:30,000, H:30,400
fllgg="H1iE SR % ) JAL JAL 36,900 67% H:39,500
AiEFH ) JAL JAL 36,300 68% H:40,500
wIR=M HILFE ) JAL JAL 21,800 68% | £::22,600, £:24,200, H:23,800
INAFE ) JAL JAL 23,000 67% | H:23400, 7k:22,700, £:23,100, +:24,200, H:27,000
=MW HILFE ) JAL JAL 26,500 66% |%:27,300, + H:26,800
TeE] LLI 58 ) JAL JAL 27,000 65% | A £:27.400. £:26,600. H:28,000
Fh=HE HILFE ) JAL JAL 33,400 57% »:34,000, +:35,800, H:35,100
HE ) JAL JAL 34,200 55% H:35,.900
L= HILFE ) JAL JAL 28,200 65% : . 1:28,600, H:31,600
[T ) JAL JAL 27,800 65% | H %:28.200. /28300, £.30,600. H31.800
wLh=hiE HILFE ) JAL JAL 36,300 67% | +:39.900, H:38,300
hiEH ) JAL JAL 36,700 67% | 1£:37,100,
EFEENN ENEE R ) JAL JAL 22,600 63% | H:22,700. H:25,000
INAFE ) JAL JAL 22,200 64% |%:24,200, 1 H:25,400
=L AR R ) JAL JAL 26,500 62% | H:26,600. % H:27.900
EES ) JAL JAL 25,600 64% |%:25900, H:26,400
HE=L5 AR S ) JAL JAL 27,300 62% | A /KA £:27.400, £:27.900. H:28.000
LE% ) JAL JAL 25,900 64% | A /K7:26,000, %:27,100. £:26,300, H:27,200
HE=HE B ) JAL JAL 34,200 50% | H:34.300, A H:34,800, £:34.400
) JAL JAL 24,500 63% | H:25,800
HER ) JAL JAL 33,800 51% |%:34,100, + H:34.800
) JAL JAL 27,800 58% £:29,400
AR =0 AR S ) JAL JAL 28,200 61% 28300, 28,600 %:20.200, H31,000
) JAL JAL 25,200 61% | H:25,600
[PTIES ) JAL JAL 26,400 64% | A:26,900, £:27,600. £:29,700. H:30,200
) JAL JAL 28,500 55% | £:29,700, £:29,600
BEEE=dL BN ) JAL JAL 28,100 64%
EIZRE:S ) JAL JAL 27,500 65% |&+ H:28,100
HE=XS S ) JAL JAL 21,900 71% |#&+ H:22,500
) JAL JAL 25,000 62% | H:29,500
Ko 5 ) JAL JAL 21,900 71% |#&+ H:22,500
pNACGEE)) JAL JAL 28,300 57% |%:32,500, £:32,700




[EMHTI528 EER (6A14H~6A30HEES)

JAL/JTA/RAC

HEE=RIK S BRI CHH) JAL JAL 22,400 72% |#+ H:23,000
KBR (FF4) JAL JAL 28,100 62% | H:29,900
Rk RE(CHH) JAL JAL 22,400 72% %+ H:23,000
pNACGEE)) JAL JAL 31,400 57% |%:32,600. £:32,500
HEE=FX S BE CHH) JAL JAL 22,400 71% £+ H:23,000
KR (FFF4) JAL JAL 25,400 64% |%::28,300. H:28,900
X3 RE(CHH) JAL JAL 22,400 71% £+ H:23,000
pNACGEE)) JAL JAL 28,700 60% |%::29,900, £:32,700
HE==K S BE CHH) JAL JAL 22,400 71% £+ H:23,000
KB (R F) JAL JAL 28,900 59% |#::29,200, H:29,900
ECES RE(CHH) JAL JAL 22,400 71% |#+ H:23,000
KB (R F) JAL JAL 31,800 55% |#::33,000, £:32,900
HE=ER S BE CHH) JAL JAL 22,400 72% £+ H:23,000
pNACGEE)) JAL JAL 27,600 63% |&H:27,700
BRER RE(CHH) JAL JAL 22,400 72% %+ H:23,000
KR (FFF4) JAL JAL 30,100 60% |%:31,300, £:31,000
HEE=Fh1E ENEE R R (HH) JAL JAL 35,500 66% :36,100, £:35,700, +:37,700. H:38,500
FiEH EACE:D) JAL JAL 36,700 65% |#:37,000, +:37,800, H:40,300
‘A= EHRR R (HH) JAL JAL 14,800 75% |&+ H:15,500
AN FE = () JAL JAL 15,300 74% | %t H:16,500
EHR=EiaE CRisi R (HH) JAL JAL 25,900 62% |£ H:26,500, 1:27.300
HfEER EACE:D) JAL JAL 26,900 60% | H:28,900
HEH=ML B R (HH) JAL JAL 24,800 64% |%:25,200
] L5 EACR:D) JAL JAL 23,900 65% |#::25,700, H:24,200
EHR=L5 EHRR R (HH) JAL JAL 25,700 63% | A:26,100
LE% = CRH) JAL JAL 24,900 64% | £:26,500
Ex=LOFH EHRR FH) JAL JAL 21,700 71%  |%:22,400. +:22,200, H:24.100
IO FE%E B) JAL JAL 22,500 70% | £:24,000, H:24,900
EHR=HE EHR H) JAL JAL 29,600 56%
1) JAL JAL 19,400 70% |%:19.800, +:20,400, H:22,300
HES =) JAL JAL 29,600 56%
1) JAL JAL 19,400 70% |4 9,800, £ H:21,300
EH=S EHRR FH) JAL JAL 20,300 70% |4 21,300
BEHE FA) JAL JAL 20,300 70% |4 21,300
EH=mn EHRR H) JAL JAL 20,200 70% |4 20,500
BIFE M) JAL JAL 20,200 70% |4 20,500
EHR=mH EHRR H) JAL JAL 20,300 71% |4 00, + H:24.100
fSFES z:)) JAL JAL 20,300 71% |&+ H:24,000
HH=wl EHR FH) JAL JAL 20,000 72% %+ H:20,500
1) JAL JAL 20,100 67% | £::20,500, £:21,100, H:22,100
PNTES SHE) JAL JAL 20,000 72% |% £ H:20,500
1) JAL JAL 20,100 67% | A£:20,500, £:21,500, H:21,300
BHE=1dAMm B H) JAL JAL 21,800 71% £+ H
EIZNIES E:)) JAL JAL 21,800 1% |4
BEHR=K% S H) JAL JAL 21,700 71% |4
KR () JAL JAL 19,900 69% |&
Ko 5 HE(CHH) JAL JAL 21,700 71% £+ H:22,500
pNACGEE)) JAL JAL 19,900 69% | A:20,300, £:23,300, £:24,600, H:22,600
FH=RIK EHR BIR CHHE) JAL JAL 23,200 71% £+ H:24,000
pNACGEE)) JAL JAL 23,000 68% | £::23,400, £:24,000, H:26,400
R HE(CHH) JAL JAL 23,200 71% £+ H:24,000
pNACGEE)) JAL JAL 23,000 68% | A<:23,400, 1:24.400, H:24.200
BEHR=EX EHR IR CHH) JAL JAL 21,800 71% |£+ H:22,600
pNACGEE)) JAL JAL 22,300 68% |%:23,600, £:23,700, H:25,400
X3 RE(CHH) JAL JAL 21,800 71% |£+ H:22,600
KR (FF4) JAL JAL 20,300 70% | A%£:20,700, £:24,600, H:22,200
EH=2K EHR HR (CRHE) JAL JAL 21,800 71% |+ H:22,600
PG JAL JAL 23,900 65% | %:24,500, +:25,600, H:26,400
EHEES HR (CRHE) JAL JAL 21,800 71% _[£ 1 H:22,600
NG JAL JAL 24,200 65% | %:24,600, +:25400, H:26,600
EHR=ERE EHR BR CHHE) JAL JAL 23,200 71% |% £ H:24,000
PG JAL JAL 22,500 69% |%:23,000, +:23,600, H:24,200
BERER BIR CHH) JAL JAL 23,200 71% |$ 1 H:24,000
KBR (F#F1) JAL JAL 21,700 70% | AR%:22,100, £:22,900, H:23.800
EH=RE EER RR(FH) JAL JAL 34,100 67% | £:35900, H:36,700
RIEH R (HH) JAL JAL 34,100 67% |+:35300. H:37,500
ZiR=/ =ZiR% FIR CHH) JAL JAL 14,800 75% t H:15,500
IMRFE R (CHH) JAL JAL 15,300 74% |+ H:16,500
ZiR=RL ZiR% ESACED) JAL JAL 26,500 61% | 7KA:26,300, %:26,900
[EES R (HH) JAL JAL 23,400 66% |7K:23,200, £:23,800, t+ H:24,000
ZiR=L% =iR% ESACED) JAL JAL 26,100 62% At H:26,200. 7k:26,000, £:26,900
LE5% R (HH) JAL JAL 24,800 64% | A A&+ H:24,900, 7k:24,700
ZiR=WOFH ZiR% FIR CHH) JAL JAL 23,400 68% | 7K:23,200, £:24,000, H:25,300
ISE3E: R (HH) JAL JAL 23,800 67% |7K:23,600, £:24,200, H:25,300
SR=H=E =R% ESACED) JAL JAL 29,600 55%
HE RE (CHH) JAL JAL 29,600 55%
PNTAGS) JAL JAL 25,900 60% |7k A:21,700, £:23,800, £:25,800
ZR=%5 =ZR%E FUR CHHE) JAL JAL 19,300 1% |4 20,300
BEHE ESACED) JAL JAL 19,300 E 20,300
ZiR="mn ZIR%E R (HH) JAL JAL 19,200 1% 19,500
ERE ESACED) JAL JAL 19,200 71% 19,500
ZiR==H ZIR%E R (HH) JAL JAL 19,300 72% 00, + H:23,100
B FR CHH) JAL JAL 19,300 72% |4 23,000
ZiR=#0 ZIR%E R (HH) JAL JAL 19,000 73% |4 19,500
[ATIES BR CHH) JAL JAL 19,000 73% |4 19,500
KR (FF) JAL JAL 26,600 58% |7 400, %:24,500, 1:26,900
ZR=42AM =R%E HUR CHH) JAL JAL 19,800 74% |4 20,600
EIZRIES R (HH) JAL JAL 19,800 74% |4 20,600
ZiR=X% =R BUR CHH) JAL JAL 19,700 73% |4 20,500
Ko 5 RE (HH) JAL JAL 19,700 73% |#+ H:20,500
ABR (#F1) JAL JAL 26,400 60% |7k A:22,200. £:27,300. £:30,000
ZiR=R& ZIR%E R (HH) JAL JAL 21,200 73% |&+ H:22,000
RIGHE B CRH) JAL JAL 21,200 73% |&+ H:22,000
KB (R F}) JAL JAL 28,700 60% |7k A:24.500, £:26.600. 1:28,600
ZiR=EX ZiR% B CHE) JAL JAL 19,800 74% |&+ H:20,600
RAR RE(HH) JAL JAL 19,800 74% |#+ H:20,600
ABR (#F1) JAL JAL 29,200 58% |7k A:25,000. £:27,100. £:29,100
ZR=%& ZiR% RE (HH) JAL JAL 19,800 74% |+ H:22,600
ABR (#F1) JAL JAL 25,700 63% | £:28,900. £:29,600. H:31,900
ECES RE(HH) JAL JAL 19,800 74% |+ H:22,600
RBR (F#51) JAL JAL 30,700 56% |7k A:26,500. £:29,000. £:31,100. H:31,200




IsEHrEI5128)

EER(6H14B~6H30AEES)

JAL/JTA/RAC

ZR=ERB ZiR% RE(CHH) JAL JAL 21,200 73% |#+ H:22,000
AR (#F1) JAL JAL 25,100 66% |#::27,900, £:28,900. H:30,500
BRER RE(CHH) JAL JAL 21,200 73% |&+ H:22,000
KB (R F) JAL JAL 28,200 62% | /KA:24,000. %:26,100, £:28,300, H:28,400
ZiR=%R1E ZR% EGACE:D) JAL JAL 35,900 65% |7K:35,700. +:36,900, H:37.900
FiEH EACE:D) JAL JAL 35,900 65% | 7k:35,700, £:36,900, H:37,900
FUH=/MR FERF ET (22 ) JAL JAL 17,200 68% |&+ H:18,300
N ) JAL JAL 17,100 68% |#+ H:17,500
H=mftHE M=K ) JAL JAL 26,300 57%
HfEER B) JAL JAL 26,300 57%
FE =R EES FIE) JAL JAL 26,300 58%
] L 5 BIED) JAL JAL 24,900 60% | ::26,200
MHE=L8 PNEE FH) JAL JAL 28,000 56% |/K:27.800
LE% HH) JAL JAL 25,300 60% | A/KAE H:25400. £:26,700
ME=LOFF NEES FH) JAL JAL 23,700 65% | 7K:23,300, £:24,700, H:24.200
WOFEp% FA) JAL JAL 24,300 64% |7K:23,900, £:24,600
MHE=HE X 56 FH) JAL JAL 26,300 57%
i=9) JAL JAL 20,300 66% |::20,800, £:21,300, H:22,200
HER HH) JAL JAL 26,300 57%
1) JAL JAL 19,400 67% |&+ H:20,100
MHE=E5 [NEE FH) JAL JAL 20,200 67% |& 20,700
BEHE TIH) JAL JAL 20,200 67% |& 20,700
MHE=m"n0 =E FH) JAL JAL 20,200 67% |& 20,700
L% BLE=D) JAL JAL 20,200 67% ,
MHEH=& = FH) JAL JAL 20,300 68% |&
=PIk FH) JAL JAL 20,300 68% |&
FE=#L Ik FH) JAL JAL 20,400 68% |&
1) JAL JAL 20,100 65% |&
PITES HH) JAL JAL 20,400 68% |& 1+ H:20,
1) JAL JAL 20,100 65% | H:20,800, £:21,200
E=1RM [NEES RE(HH) JAL JAL 29,300 58% |7K:29,000. £:29,400
E#EIES FR CHHE) JAL JAL 26,900 62% | £:29,300
MHEA=X% PYEES HE(CHH) JAL JAL 27,100 61% 7K:27.900. 7K:26.800, £:28.800, H:27.200
KB () JAL JAL 19,900 67% | % +:20,600, H:25,100
Ko 5 IR CHHE) JAL JAL 27,500 60% |%:28,200
pNACGEE)) JAL JAL 20,600 65% |%::23,600, £:24,300, H:24,800
MHE=R& PYEES RE(CHH) JAL JAL 27,100 63% :27,500. 7K:26,800, %:28,500. H:27,200
KB (771 JAL JAL 23,000 66% |$1:23,700, H:25500
R RE(CHH) JAL JAL 27,600 62% | H:28,200, 7K A:27,500, £:28,700
KB () JAL JAL 22,200 67% |&t H:22,900
MHE=kX YRS RE(CHHE) JAL JAL 27,600 61% | A H:28,000, 7K:27,200, £:29,200
KB () JAL JAL 21,200 67% |%:23900, +:22,200, H:24.500
AR RE(CHHE) JAL JAL 26,700 62% |7K:26,300, £:27,500
KB () JAL JAL 22,700 65% | 1:23,400. H:24,400
MHE== [PN:ES FR CHH) JAL JAL 26,800 62% |7K:26,400, £:27,700
KB () JAL JAL 25,200 61% |%:25900, £ H:26,500
EEES RE(CHHE) JAL JAL 26,700 62% | £:27.400
KB () JAL JAL 24,900 61% |% t:26,600. H:28,800
ME=ERS [PN:ES FR CHH) JAL JAL 26,400 64% :28,300., 7K:26,000, £:27,600. H:27.300
KB () JAL JAL 23,400 66% |£:24.000, +:24500, H:24,700
BERER HR CHH) JAL JAL 24,700 66% | 7:27,000, 7k:24,300, £:27,800, H:25,800
KBR (51 JAL JAL 22,400 67% |H:22.600, & 1:23.800, H:27.700
MHE=F1E B FR CHHE) JAL JAL 33,900 65% |7K:33,500, £:34,200, H:35,900
AiEFH HR (FH) JAL JAL 33,900 65% | 7k:33.500
EE=HE EER pNTACGTE)) JAL JAL 24,300 61% |A/kKAK£+E H:29.100
HE KR (77 JAL JAL 29,100 53%
EE =l TE&EF KR (FF1) JAL JAL 24,300 59% >1£:29,100, H:24,700
FALLFE AR (77 JAL JAL 25,000 58% 5,400, H:29,900
E&E=X% TE&EF KR (7 JAL JAL 25,400 59% |A% +:30,600, H:28,600
A% PN JAL JAL 30,600 51% |& ,700
E&E=RIK &R NG JAL JAL 27,200 61% |7:32,400, £ +:32,500, H:29.000
RIS PN JAL JAL 27,100 61% | H:32,000
TEE=REX TE&EFR KR (7 JAL JAL 25,800 61% | AK:30,100, A£:31,000. £ H:32,900
REAH KB (R F) JAL JAL 31,000 54% |+ H:32,900
EE==K TE&R xrs&(w ) JAL JAL 29,800 56% | AkA£+ H:32,900
EeiE] JAL JAL 24,100 67% | A:27,300. £:28,200. £:24,300. H:31,700
= I 5 xrﬂi({?ﬂ) JAL JAL 32,900 51%
EeE] JAL JAL 24,500 67% | H:27,300, 7K:24,100, £:26,100, £:29,400, H:28,100
EE=ERE TE&EFH KR (FF1) JAL JAL 28,100 60% F!?kEl :32,600, K:33,500, % +:34,100
ERE% PN =) JAL JAL 32,400 54%
Wi =/ i3 FUR CHHE) JAL JAL 16,800 62%
AN FE ESACED) JAL JAL 16,800 62%
Lz =Re LRz % FUR CHHE) JAL JAL 18,800 65%
e LLI ESACED) JAL JAL 18,800 65% 19,
=55 LRz % FR CHHE) JAL JAL 22,800 58% 7k K<+ H:23.000
NEES FIR CHH) JAL JAL 21,400 61% | A/KAS L H:21,600
W =110F§ LRz 5 R (HH) JAL JAL 18,500 68% | H:19,000, £:18,800
WOFER ESACED) JAL JAL 18,800 68% |%:19,800. £:19,000, H:20,700
W =HE iZ3 FR CHH) JAL JAL 27,900 46%
ABR (FF1) JAL JAL 23,900 59% | 7K:24,700, £:25,500, H:25,600
HE RE (CHH) JAL JAL 27,900 46%
PN =) JAL JAL 24,700 58% | 7A:23,900, 1:24,800, H:26,300
=185 I};Z:3 FR CHH) JAL JAL 19,200 64% | A:20,000, £:20,700
mER RE(HH) JAL JAL 19,700 63% | A:19,800
Wi == LIRS F FUR CHH) JAL JAL 19,700 63%
ST R (HH) JAL JAL 21,200 60% | HsKA+:21,500, £:21,600, H:21,900
W=l 23 BR CHH) JAL JAL 21,200 62%
KR (FF) JAL JAL 24,600 56% :25,
EAITES RE(CHH) JAL JAL 20,600 63% : . £:21,500, H:23,200
KR () JAL JAL 24,600 56% : +£:25,000
Wz =Ko 23 RE(CHH) JAL JAL 21,600 64% B . $::22,400, £:22,800
KR () JAL JAL 24,400 58% | H:28,900
K% RE(CHH) JAL JAL 22,400 62% |+:22,800. H:23,200
KB (R F}) JAL JAL 25,200 57% | A:24,400, £:28,200, T:28,100, H:27.600
Wi =Rk 23 BR CHH) JAL JAL 21,600 66% |%:22,800. £:22,400, H:22,000
KR (FF) JAL JAL 27,500 58% |+:27,900. H:29,300
RIGHE BR CHH) JAL JAL 23,800 62% 3:24,400. 7k:23,300, &:22,900, £ +:24,000
KB (R F}) JAL JAL 27,500 58% |%:28300, £:27.900, H:29,100
Wi =Hx [ii}:Z:3 B CRH) JAL JAL 22,400 63% | At H:22,800, %:23,200
KB (R F}) JAL JAL 24,800 61% | 7k:25,600, £:27,700. £:26,400. H:28,300
AR BOR CHH) JAL JAL 21,600 65% | A £:22,000, £:22,800, H:23,600
KR (1) JAL JAL 25,600 60% |A:24,800, +:28,100, H:27.200




rEHBIZI28 EER (6H14H~6H30BEESD) JAL/JTA/RAC

Wiz == [i}Z3 RE(CHH) JAL JAL 21,600 65% | %:22,000, 1:22,800
AR (#F1) JAL JAL 28,300 55% |7K:29,600, £:28,600, £:30,500, H:29,900
ECES Eﬁs{(ﬂ&) JAL JAL 21,600 65% |%:22,000. H:22,800
1) JAL JAL 29,500 53% | A:27,900, £:29,900, £:30,000, H:30,500
IW=ERS 23 ) JAL JAL 21,200 67% 3:22,000, H:22,100
) JAL JAL 28,900 57% |%:29,700
BRER ) JAL JAL 20,400 68% | H:23200, £ 1:22,100, H:24.800
) JAL JAL 27,000 60% | A:26,200, % £:27,200, H:30,500
=" I};23 ) JAL JAL 31,300 64% | +:32,500, H:33,300
RiEFE ) JAL JAL 31,300 64% | +:32,500, H:33,300
liE=HE =3 ) JAL JAL 25,800 55% |7K:25,300, £ £:26.300
HER ) JAL JAL 25,600 55% 3 kA £ H:26,000., £:26,300
e =#xl =3 ) JAL JAL 22,000 60% | H:22,400
[ATIES ) JAL JAL 21,100 61% | H:21,400, £:21,800
s =X% =3 ) JAL JAL 22,100 61% |£+:22,600, H:26.300
PN ) JAL JAL 21,500 62% |#::24,200, +:24,900, H:21,800
e =Rk =3 ) JAL JAL 25,200 61% |#+:25700, H:26.700
RIGFE ) JAL JAL 24,600 62% |%:24,700. £:25,100, H:26,200
e =KX =3 ) JAL JAL 22,500 64% |%:25,100. +:23,000, H:25.700
BEARFE ) JAL JAL 23,700 62% | H:24,000, £:25,500
e ==k =3 ) JAL JAL 26,500 57% |#+:27.400, H:27.000
5T ) JAL JAL 27,100 56% |%:27,600. £:28,100, H:28,700
E=gR =3 ) JAL JAL 25,200 62% 7K K:25,000, £:25.900, 1:26.300
BERER ) JAL JAL 26,300 60% | £:27,400. H:28,200
FR=HE T ) JAL JAL 23,800 57%
HER ) JAL JAL 23,600 57% |A/kKAK£ 1 H:23,800
Fim=l i ) JAL JAL 19,500 63% |%:19.900. H:20,300
[AITE ) JAL JAL 19,800 62% |£:21,500, £:21,300
FR=X% T ) JAL JAL 20,600 63% :24,200
D% ) JAL JAL 19,600 64% |%:21,300, +:21,400, H:20,100
FR=RE R % ) JAL JAL 21,100 66% |£ H:22,300, £:21,200
R % ) JAL JAL 22,600 64% |& 3,000, H:24,700
FR=FEX k% 1) JAL JAL 21,000 65% | +:21,300. H:23.600
AR ) JAL JAL 22,400 63% | +:23,500. H:22,800
FR== Fiboeid ) JAL JAL 23,700 60% |4 £:24.000. H:25.100
ECE ) JAL JAL 25,100 58% . +:25,500, H:27,200
FR=ERE i ) JAL JAL 23,300 63% KK H:23.500. %:23,900. +:24.600
ERE% ) JAL JAL 22,600 65% | 3:22,800, £:23,300, £:22,700, H:26,100
/NR=EWL INEASE @) JAL JAL 20,900 65% |%:21,800, H:21,200
FELLI$E H) JAL JAL 21,300 64% |7k A:21,000, £:22,300
IMA=IEE INAFE H) JAL JAL 22,700 62% | 7K:22,400. A:23,100
LE5% FIE) JAL JAL 21,800 64% | 7k:21,500, £:23,100
NMR=ILOFE INRFE BLE:D) JAL JAL 17,800 72% |[%:18.900.
I=EZE BE=D) JAL JAL 18,200 72% |%:18,800, H:20,100
IMA=HE INEASE @) JAL JAL 25,900 55%
HE H) JAL JAL 25,900 55%
IMA=TES IDAFE H) JAL JAL 19,400 67% | 7A:20,200, £:21,100
BEHE ) JAL JAL 21,000 64% | A:21,100
INY=TE Y INIAFE ) JAL JAL 22,100 62% |%:23400, H:24,400
=T RERE(CHH) JAL JAL 22,700 61% |7/K:22,400, A& £:22,600, £:24,000, H:23,100
M= INAFE RE(HH) JAL JAL 20,200 67% |%:21,100. H:22,200
EHFE FR CHH) JAL JAL 22,300 63% | +:22,600
Y=L INAFE RE(HH) JAL JAL 22,400 64% |/K:22,100, A:23,000, £:23,100, H:23,800
[T RERE(CHH) JAL JAL 23,100 63% | A%:23,500
IMR=FE M INRFE RE(CHH) JAL JAL 23,600 65% |%:24,900. H:26,800
EZNIES RERE(CHHE) JAL JAL 22,500 66% | 7K:22,200, £:24,900, H:24,400
INR=K5 IMRF ESACED) JAL JAL 21,400 67% 7:22,200, £:24,300, H:25,000
PN E = (CFIH) JAL JAL 22,200 66% | H:22,600, 7K:21,900, £:25900, H:24,600
I =RIG IR FE ESACED) JAL JAL 23,800 66% | A A+:24,200. 7k:22,700. £:24,300, H:24,600
R % R (CHH) JAL JAL 22,800 67% | H:23400, 7K:22,400, A:22,300, :24,300, H:24,600
INR=RER IR FE ESACED) JAL JAL 21,800 67% | H:22,200, 7K:21,500, %:23,500, H:25,400
AR R (HH) JAL JAL 21,800 67% | H:22,600, 7k:21,500, A:22,200, :26,300, H:25400
N =R I IR FE ESACED) JAL JAL 21,000 69% |7K:20,700. £:22,300., +:21,400, H:23,800
EGE R (HH) JAL JAL 21,000 69% [7K:20,700. & H:22,600
IMA=ERE IR FE FIR CHH) JAL JAL 17,500 75% |£+H:19,700
ERE% FR CHH) JAL JAL 18,500 73% + B:20,500
INA=EH IMAF s (R E) JTA [JTA/RAC| 27,500 59% H:32,600, 7K:28,300, 7A:33,600, £ 1:32,800
BoOR ShB(ERE) | JTA/RAC] JTA 28,200 58% | A H:32,600, A:33,500, £ £:33,800
INA=F1E IV FE FIR CHH) JAL JAL 30,700 67% |7K:30,400, £:31,100, H:32,700
P8 (B ER) JTA [JTA/RAC| 32,700 55% | A H:32,600, &:33,700, %:32,800, 1:32,900
RiER | HECHHE) JAL JAL 30,300 67% | +:31,100, H:32,700
B4 (BBFR) | JTA/RAC| JTA 32,700 55% | B H:32,600, £:34,300, £:33,100, £:33,200
FELL == fEl LLI B GIRER) JTA [JUTA/RAG| 33,700 43% | A7 :34,500, 7X:33,300
B P43 (FBE) [UTA/RAC|  JTA 33,700 43% |7l :34,500, K:32,900
el I =518 ENES P8 GIRER) JTA [UTA/RAG| 34,600 47% | A7 :35,100
RiEHE T8 GRE) |JTA/RAC]  JTA 34,600 47% | B H:35,000
B == B 1@ JAL JAL 21,800 56% |4 22 300, +:21,900. H:23.500
EGE 12 JAL JAL 21,800 56% :22,300, F:23,200. H:22,000
HEBBR) =FH hEE(RB) FE | HECHE) JAL JAL 30,900 62% :31,700, H:32,800
PG JAL JAL 19,700 76% |+:20,400. B:25,700
EHR BR CHHE) JAL JAL 29,400 64% | A:29,600, £:31,000, +:30.900
PG JAL JAL 19,300 76% |%:19,700, £:22,100, H:20,400
R (BB ==IR PR FE | HECHHE) JAL JAL 31,100 61% |7K:30,900. H:32,500
RFE R (HH) JAL JAL 27,200 66% |7k:27,000, £:28,900, £:27.900, H:28,500
B (B =R A BR CHH) JAL JAL 30,300 59% |%:31,000
KB (R F}) JAL JAL 20,400 73% |&+:21,600, H:27,900
TE BUR CHH) JAL JAL 32,200 57% |7K:31,800. A:32,400, £:34,100
KR () JAL JAL 20,600 73% :21,100, £:23,000, H:21,600
AR (BB =T R (RB) FE | KBR FFD JAL JAL 25,800 67% | H:37,900
12 JTA JAL 32,700 61% :35,900, kA £:34,000, 1:36.800, H:37.800
TEER KB (R FD) JAL JAL 23,900 70% |#:28,700, £:30,100
& JAL JTA 32,700 61% 7k £:34,000, K:37.200, £:36,500, H:37.900
B (BB =1LR EERB) FE | HECHE) JAL JAL 26,500 60% | H:27,900
KB (R F}) JAL JAL 25,000 67% | A:21,300. H:30,700
23 BR CHH) JAL JAL 27,000 59% | A:27,200, £:28,600, £:28,500
KR (FF) JAL JAL 21,300 72%  |7K:25,000, +:27,200, H:25,000
SRR (BB =1lE BT AE kS fahE JTA JAL 29,000 64% 7k A %::30,300, £:31,300. H:32,100
KBz () JAL JAL 21,300 71% | H:24,900
(23 & JAL JTA 30,300 63% | A /KA £:31,600, £:33,300, H:33,700
KR () JAL JAL 21,300 71% |[#H:21.600, £:23.000
HIE (B = /MR PEEGRB)FE | IR CHE) JAL JAL 27,800 61% |7K:27,500. £:28,300, H:28,900
INVRAFE EGACEL:D) JAL JAL 26,400 63% |7K:26,100, A:26,600, £:27,700, £:27,100
() == A ,4:?% BE) F & JTA JAL 25,900 56%
e & JAL JTA 25,900 56%




IsEHrEI5128)

EER(6H14B~6H30AEES)

JAL/JTA/RAC

iR (BRE) =#l iR () F 1@ JTA JAL 24,100 56%
00 | FALL S & JAL JTA 24,100 56%
HR(CAHE) =E£XE IR CHHE) 3 B JAL JAL 24,500 65% | H:24.900. A:25.400, £:26,600, 1:28.700, H:25.800
KR FF1) JAL JAL 29,700 56% |7K:29,500. £:31,200, H:30,100
ESNEES B JAL JAL 24,100 66% | H:26.900. A:24,500, £:30,700, 1:25.800, H:29.500
KR FF1) JAL JAL 31,300 53% |JK:30,800
RR(HA) =ERE IR CHE) 3 B JAL JAL 25,700 64% | H:27.300. £ H:26.500, 1:28.600
E PN JAL JAL 24,500 62% | A%+ H:26.900
ERER B JAL JAL 25,300 65% |%:30,300. +:28,100, H:30,700
E PN JAL JAL 24,500 62% | A H:26,100
RROHB) =B2& RRCHHE) % U5 JAL JAL 27,400 64% | H H:28,200, &:28,300, £:29,500, 1:31,600
E PN JAL JAL 26,700 61% |A%+:29,100, H:28,300
BeER BRS JAL JAL 26,600 65% | H:29.400, £:31,600, £:28,300, H:32,000
FRCHE) =k RED FR CHE) BERS JAL JAL 28,200 64% | H:29,400, A:29,100, £:30,300, £:32,400, H:29,500
ok RERFE BRS JAL JAL 27,400 65% | H:30,200, 7:-27,800 32,800, +:29,100, H:32,600
HRCHB) =5 FIR CHE) % BRES JAL JAL 28,700 64% | A:29,600, £:30, 32,900, H:29,500
Sim% BRES JAL JAL 27,900 65% |%:32.000. 28,700, H:33.300
E PN JAL JAL 30,300 60% | A H:31,900
K (FFH) =FEEKE ABR (5} 5 BRS JAL JAL 22,900 60% |£+:23,000, H:23.700
EERESE BRES JAL JAL 25,500 55% | %:26,500
KR () =ERE KBR (55 5 BRS JAL JAL 25,300 57% | B /KA H:25500, £:25.900, 1:26,300
E PN JAL JAL 27,600 47% | H:28,400
ERER BRS JAL JAL 25,500 56% |%:26,100, +:25,600, H:26,500
E PN JAL JAL 27,600 47%
KR () =828 KBR (5} 5 UGl JAL JAL 26,600 57% | HJKA:26.400, £:26.800, £:27.200
BB BEE JAL JAL 26,800 56% |£:27,400, £:26,900, H:27,800
BERE JAL JAL 29,800 47% | £:30,200
KB (7 =ik RED ABR (FRF) % BRES JAL JAL 27,000 58% | F /KA H:27.200. %:27,600. 1:28,000
ok RERFE UGl JAL JAL 27,600 57% | A A£:28,000, £ H:28,600
KB (5 = KB (5 5 ] JAL JAL 27,500 58% | AJKAH:27,700, %:28,100, 1:28,500
BERE JAL JAL 33,400 48%
5% BR JAL JAL 28,100 57% |#::28,700, £:28,200, H:29,100
BE=EXXS [ERES ERS JAL JAL 18,500 61% |H3:18900, H:18,600
BEEAEHR ERS JAL JAL 20,600 57% | A:21,000, £:22,200
EBE=EFR5 [EEES ERS JAL JAL 22,200 55%
BEXS JAL JAL 21,300 55%
ERER BEXS JAL JAL 21,300 55%
ER=z8 EEEES BER JAL JAL 23,100 55%
BERS JAL JAL 23,500 55%
BeER ER JAL JAL 23,100 55%
PN JAL JAL 23,500 55%
R CRE) =51E R CHE) % AiE JAL RAC 37,800 53% |+ H:38,500
RS H"f%(?iﬂaq) RAC JAL 28,000 65% | H:31,200, %:33500, £:33,000, H:34,600
RAC JAL 37,800 53% |+ H:38,500
AR (51 =5 3RE SMER H"f%(?iﬂaq) RAC JAL 27,500 62%
Kk (BdE) =5 3E KB (BH7E) 5 AiE JTA RAC 34,300 49%
RS s (ARER) RAC JTA 34,500 52% |#:35.100, £:33,300, H:37.000
fia RAC JTA 34,700 49% | /KA % +:33,700, H:34,600
ZEE(PER) =5 HE SIESR shiE (ARER) RAC JTA 38,300 50% |HA%+H:38700
il =53 E EENEES PR (BRER) RAC JTA 35,100 51% |H:37,000
&6 = 5 FRE SIESR ihiE (RER) RAC JTA 29,200 55% | A:29,800. £:30.900, + H:31.400
PR (RE) =5 E PR (ARER) FE aiE JTA/RAC| RAC 10,100 74% | A:9,800, 2 +:11,000
SMER AiE RAC [JTA/RAC 9,900 74% H:9,800, :9,700., % £:10.800
RR(PA) =AXE RIECHE) % | h#E(GE) JAL [JTA/RAC| 21,100 64% | 8:24,000, 7K A&:24,300, % +:27,700, H:25,200
AKEH B (FBER) | wautarac]  JAL 23,200 61% | H:23,100, 7k A:24,300, %:25,600, £:24,900, H:26,100
KR () =AXKE ABR (5 5 i (ABER) JAL [JTA/RAG| 24,100 53% | H:26,400, 7k A% +:25,700, H:27.400
AXEH BB (IRER) | svtamc]  JAL 24,200 53% | £:23400, £:22,600, H:27,400
Kz (BdE) =AXK5 KB (BHFE) 5 P8 (ARER) JTA [JTA/RAG| 28,100 45% | H:30,400, 7k A:29,200, £:29,500. F:30,600. H:28,300
AREH FHE GIRER) [ ovvmo]  JTA 29,100 43% | H:28,600, /K A% £:29,200. H:27,800
HEE (PR =AKE %EE(CP’B)% | ik (&) JTA |JTA/RAC| 31,100 45% | A:31,700, & H:31.400, 1:32,100
AREH F#E (BBER) [ wwvrarc]  JTA 30,500 46% | A A:30,900. % £ H:31,000
wBR=AKE BEFE i (ABER) JTA | JTA/RAC| 24,500 44%  |4::24,600, £ H:24,900
AXEH PR GIRER) | svtamc|  JTA 24,400 44% | $::24,500, £ H:24,600
R CHHE) =Rk RRCHE)FE | ABR(FEFD JAL JAL 20,300 60% | B A%+ H:20,900, 7k:20,100
HE JAL JAL 26,600 43% | H:27,000. A:26,000
[ETES xrﬂi({?ﬂ) JAL JAL 20,100 61% :19,500
HE JAL JAL 26,700 43% 27,500
R (BB =R SRR (BB FE | ABR (FFH JAL JAL 20,600 1% 21,100, H:26.300
Rk XWE(@ Ft) JAL JAL 19,100 74% H:20,200, +:20,500
12kt = FLIE (FTF %) FEEES F1E) JAL JAL 32,000 60% | A:32,500, £:35,400, £:34,800. H:33,300
FLOE (BRFAR) 5 | PH JAL JAL 31,300 61% | A:31,400, £:35700, £:32,900, H:36,600
BEH=%m5 ERE JAL JAL 20,300 58% | A/KA L H:19.900. £:21,400
ESTLIES JAL JAL 20,800 57% | A:21,200, £:22,500
=% TR JAL JAL 21,700 59% [£:22,500
ESTRIES 3 JAL JAL 21,700 59%
ZHE (FE) =L A= (HAR) # ) JAL JAL 21,400 67% |H%:21,800, £:23,400, H:22,600
HILFE @) JAL JAL 20,200 69% | £:21,000, £:21,400, H:22,200
& 2 (hER) =feJII A E (HAR) # z:)) JAL JAL 23,000 65% | A:23,800, £:24,000, +:26,900, H:25,600
ETIES @) JAL JAL 20,600 69% | H£:21,000, £:22,000, H:22,200
B =% EIFE B) JAL JAL 28,300 65% | B 7K A:28,800, £:29,800, 1:30,500, H:28,900
ESTRIES @) JAL JAL 28,100 65% | A 8,900, H:30,300
EE=%H5 BEHE H) JAL JAL 26,400 67% 7,200
ESTLIES @) JAL JAL 26,200 68%
K=& R PN BLE=D) JAL JAL 23,400 73%
ESTGIES @) JAL JAL 23,400 73%
RIE =2 R KI5 H) JAL JAL 23,900 74%
ESTGIES @) JAL JAL 23,900 74%
RRAR=%H5 REA S H) JAL JAL 23,900 73%
ESTGIES @) JAL JAL 23,900 73%
B IE = 2 EGES RECHE) JAL JAL 23,900 73%
ESRIES ﬁsz(ﬂz ) JAL JAL 23,900 73%
BRE=%m5 @) JAL JAL 23,900 74%
H) JAL JAL 23,900 74%
WIRGEFFR) =BEKE H) JAL JAL 33,400 63% #::36.200, 1£:36,600
B) JAL JAL 32,800 64% . :33,600, £:35,500. H:36,200
BEHR=-EEXE H) JAL JAL 30,800 65% :33,800, H:33,000
B) JAL JAL 30,800 65% 2,200, B:33,800
ME=FEXXE H) JAL JAL 33,200 59% |7K:32,800, A:35,600, £:36,100, H:34,800
B) JAL JAL 31,800 61% | H:33,400, £:32,700
IMA=TEEXRE H) JAL JAL 27,000 65% | A%::29,400, £ H:29,000
FE) JAL JAL 27,000 65% | F:28,600. H:29,000
= =g H) JAL JAL 27,400 65% | HsKA:27,900, £:28,300, £:29,700, H:29,100
SE) JAL JAL 27,500 65% | £:28,500. H:31,400




IsEHrEI5128)

EER(6H14B~6H30AEES)

JAL/JTA/RAC

EE =1 BER RE(HH) JAL JAL 25,500 67% | A:25,600, #:25,700, H:26.200
SIERF EGACRLE:D) JAL JAL 25,600 67% | A: 6400 £:27,100. B:26,700
Ko =8k N R (HH) JAL JAL 22,400 4% &
SERFE EACR:D) JAL JAL 22,400 74%
Rig=8IE% R R (HH) JAL JAL 22,900 4% &
SERFE EACE:D) JAL JAL 22,900 e
REA=FI% REAF Eﬁ:'i(za= ) JAL JAL 22,900 3% &
SRR FE ) JAL JAL 22,900 3% &
B =SB EGES ) JAL JAL 22,900 73% &
PR 5 ) JAL JAL 22,900 3% &
BERS=43IK BRER ) JAL JAL 22,900 4% &
PR FE ) JAL JAL 22,900 e
R (RE) =8I R (RER) F ) JAL JAL 31,500 65% | H:35.100
FEES ) JAL JAL 27,800 69% |%:29,700. £:30,400, H:32,600
PREEEDN PNEES ) JAL JAL 27,300 65% | H%:27.700, 7k7<i:27,400. H:28.800
THILFE ) JAL JAL 26,100 67% | A /K7K:26,200. £:27,300. T H:26,800
Bm="Ik EIFE ) JAL JAL 27,400 65% | HsKA:27,900. £:28,500, :30,300, H:30,500
FILFE ) JAL JAL 26,900 65% |#:28,100, £:27,100. H:29,300
BE=FIL BER ) JAL JAL 25,500 67% | H£:25900, &:25,600. £:26,100. H:27.600
HILFE ) JAL JAL 25,000 68% | A 126,600, 1:25,400
K=k PN ) JAL JAL 22,000 4% &
FILFE ) JAL JAL 22,000 4% &
RBE="FIL R ) JAL JAL 22,500 75% &
HILFE ) JAL JAL 22,500 75%
BEA=FL REAR HH) JAL JAL 22,500 74%
THILFE HH) JAL JAL 22,500 74%
B ="%5 EGES = (CHH) JAL JAL 22,500 74%
HILFE R (PH) JAL JAL 22,500 74%
BRE=Fk BRER = CHHE) JAL JAL 22,500 75%
HILFE FR CHHE) JAL JAL 22,500 75% ,
Bl=&# ENIES B (FH) JAL JAL 28,100 64% 28500, % H:31.200. £.29.200
BIFE EGAERLED) JAL JAL 28,200 64% | HK:28,900, £:29,700, %:30,400, +:33,400, H:31,900
HEE=E0 ENEE S RE(HH) JAL JAL 28,100 60% | H:28.200, £:28,700, H:30.500
BIFE EGACRLED) JAL JAL 26,600 62% | 7 /KK:26.900, %:28,100, £:29,400, H:28,900
HE=ES ENEE S RE(HH) JAL JAL 26,200 62% | H:26.300, A:27.000, £:27.200
BEHE FR CHH) JAL JAL 25,100 64% | A1:25,200, £:26.200, H:26,000
HRCHE) =2R EACEDET BRfE JAL JAL 20,500 61% | H:20.300, A:21,000, £:22,500, £:24.800, H:21.800
BRFE i JAL JAL 21,300 59% [H:21,400, £ +:21,500, H:24,600
ABR (D =B8R B[R 5 S JAL JAL 23,200 62% | H:24,500
S (R®) =5 SRR (AR 1@ JTA JAL 25,400 57% | B JKZK:26,100, £:26,500, £:27,100, H:27,300
BER 12 JAL JTA 24,800 58% | H/KAK£ 1t H:26.100
BI=1E5 JENIE: FR CHHE) JAL JAL 25,400 68% | H:26,000, A:26,200, :29,700, + H:26,500
BER EACED) JAL JAL 27,100 66% | A:28,000, £:28,100, £:29,600, H:29,000
BHN=X% JENIE: FR CHHE) JAL JAL 21,400 75% ®+ H:22,400
PN IR CHH) JAL JAL 21,400 75% |&+H:22,
LR (E3R) =B8R ALIE (2R 5 & JAL JAL 17,600 50% |+ H:14,600
HRFE JAL JAL 17,600 50% | £:17.100. H:14.600
SIER = EEE SERF JAL JAL 19,700 53%
HEEF JAL JAL 19,700 53%
g ==iR SIERFE JAL JAL 23,700 49%
= R% JAL JAL 20,200 57% | AH:23,700. £:21,000
FIR =K FRF JAL JAL 20,500 53% | H:23,000
HEEF JAL JAL 23,000 47% | A:23200
FlR =48I SERFE JAL JAL 20,200 57% 7(%1 23,700
=R=FR ZR%E JAL JAL 19,800 60% | A:21,800, £ H:22,000
BERS=1EII ERE% = CHHE) JAL JAL 21,900 76% |4t H:22,.900
B SFE) JAL JAL 21,900 76% 22,900
RIG=1EI R % FUR CHHE) JAL JAL 21,900 76% 22,900
FEIES = CRE) JAL JAL 21,900 76% 22,900
REAR=1E)II RAR FUR CHHE) JAL JAL 21,900 75% 22,900
ENIES ESACED) JAL JAL 21,900 75% :22,900
BiE=1HeJI EGE FUR CHHE) JAL JAL 21,900 75% :22,900
JENIES HIR CHH) JAL JAL 21,900 75% :22,900
RECHH)=X&E R CHHE) % BEX JAL JAL 18,600 64% + H:19,000, £:19.400
KEH S JAL JAL 17,800 66% | A /KA H:18,200. % +:19.000
R CHHE) % 1= JAL JAL 24,800 57% | 7:24,200, £:26,400, +:25,500, H:26,300
KXEHX 2 JAL JAL 27,200 53% | A:26,800, £:29,300. H:29,600
KB (5 =XE KB (FFF) 5 BEX JAL JAL 16,300 56%
XEH REX JAL JAL 16,300 56%
KB (5 5 1= JAL JAL 17,800 56% |&+:18.600
REH & JAL JAL 17,800 56% |%:20,700, H:20,300
IR FFR) =KE ALIR (BT i) 5 1= JAL JAL 31,100 58% :30,000, +:31,600, H:32,500
REH & JAL JAL 31,100 58% | +:31,600, H:32,500
BERE=FKRE N meE JAL JAL 11,900 57%
ok RERFE E2E JAL JAL 11,900 57%
B2 5= (B8’ B ER K R JAL JAL 15,600 54%
R (RE) F ok B E JAL JAL 15,600 54%
RR(CHA)=#F5 R CHHE) % BES JAL JAL 21,200 64% | H:22,400, AK:22,100, £ :25,400, H:22,500
BFERE ERS JAL JAL 20,400 65% | H:23200, JKK: > 23,100, H:25,800
RR(CHA)=EAS5 RECHHE) % BES JAL JAL 20,300 66% | A H:21,100 24,500
BAEH ERS JAL JAL 19,600 67% | H:22.300. 7 , . £:22,800, H:24,900
KR (D) =BA 5 KB (D) & ERS JAL JAL 19,600 58% |%:19,700, £:20,100
BAEH ERS JAL JAL 19,700 58% |%:20,300. £:19,800, H:20,700
BRE=M"#EGH) BERES BEKRE JAL RAC 18,200 66%
SRR GRE) & BEAE RAC JAL 18,200 66%
EBE=EAE [EEES BRE JAL JAL 16,000 57%
BAEH ERS JAL JAL 16,000 57%
BE=EFE 12 F BES JAL JAL 16,900 53% | A:17.300
EFYEX ERE JAL JAL 16,900 53% | BAKA%+EH:17.300
RE=HJI LE% FR CHHE) JAL JAL 28,900 64% | AK:29,000, &:29,800, %:29,900, £:30,700, H:30,200
JEIES B (FH) JAL JAL 26,900 67% | H:27,300. 7KA:27,000. £:30,400. £:27,900. H:28,700
W=z PNITES 12k JAL JAL 18,900 59% |A:18,500, £:19.400
5] ) JAL JAL 17,200 63% | %:17,600. £:18,400. H:18,600
EEHE AL EPNE] SRR GRER) % Ehm RAC JAL 16,000 59%
EEREE JAL RAC 16,000 59%
B =K HRHE *LWE(EH:) JAL JAL 18,000 55% |t H:15,000
BREE S AL (FLE) JAL JAL 18,000 55% |+ H:15.000




